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Read the following passages and respond to the questions that follow each passage. Your responses should be based on
the passages.
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TAHE JEUEgada I Hesuara diehl HHadl. 901 SR ENgeh H:HeaTddul, Jeggd o hrid e ST 376
ot SvTETEt STTETEsh STHUI 3INE =T el 3THE a Svfiagds Hagaean T favervngd frerere fehiggr
g BUATEAUd [OvaE-E 3T AT, 3T 3 all AT SRRAT T Ycdeh HIHhIA hial SHIIT i 3TEHT FHIEE
BIUATE TAShcHeh el federa A= Wl A Ia ATEl. A1 T SehRMed T IEET ST S hll SIS Wehd ATal.
T JEIEGINA T - 31T JHTUITG AgHTe 3Teesal. e, Hacadul AId! SATH! STEeIeAT AehTHed AT THAT AEST=
e IR Shedl STdl. 3T 379 a, il SATH i Heh3 T ITfheh TINEHHEY I1 ITRESITET THR hell AT
Sehdl. HRU AT AT TG0 ITSIqd o8 ST Jer=ht qeTcHeh s=rd 8. Wil T & g1 R-EwTeIal T-r a0l
IR, I THAWE JAGAGHHT AWIUl = d1el, Hifed! Yo el Hagws fafay e mifed swoammet fea
ST, GH=I Teaid AT o™, T geshid! Yoael g & qoadaeri=al fodehen diealell 39d. & T dgdt
AT FISERT ST JOHTCHRGEAT HHl Geeh 3R, TG, 3TN TR Hagaiedn FTHATe Agfss T Torgd Hivaqao
THATA. hIeT T & @I R T JTEATd ST 1 STHNER hiegeie] RS ST -HITH Shiecied] AfeTshid STaR=Al
FHET UM FHAT.

Read the following passage and answer the questions from 1 to 5 :

Non-probability sampling is that sampling procedure which does not afford any basis for estimating the probability that each
item in the population has of being included in the sample. Non-probability sampling is also known by different name such as

deliberate sampling, purposive sampling and judgement sampling. In this type of sampling, items for the sample are selected
deliberately by the researcher; his choice concerning the items remains supreme. In other words, under non-probability sampling,
the organisers of the inquiry purposively choose the particular units of the universe for constituting a sample on the basis that
the small mass that they so select out of a huge one will be typical or representative of the whole. For instance, if economic
conditions of the people living in a state are to be studied, a few towns and villages may be purposively selected for intensive
study on the principle that they can be representative of the entire state. Thus, the judgment of the organisers of the study plays
an important part in this sampling design.

In such a design, personal element has a great chance of entering into the selection of the sample. The investigator may
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select a sample which shall yield results favourable to his point of view and if that happens, the entire inquiry may get vitiated.
Thus, there is always the danger of bias entering into this type of sampling technique. But if the investigators are impartial,
work without bias and have the necessary experience so as to take sound judgement, the results obtained from an analysis of
deliberately selected sample may be tolerably reliable. However, in such a sampling, there is no assurance that every element has
some specifiable chance of being included. Sampling error in this type of sampling cannot be estimated and the element of bias,
great or small, is always there. As such this sampling design gets rarely adopted in large inquiries of importance. However, in
small inquiries and researches by individuals, this design may be adopted because of the relative advantage of time and money
inherent in this method of sampling. Quota sampling is also an example of non-probability sampling. Under quota sampling
the interviewers are simply given quota to be filled from the different strata, with some restrictions on how they are to be filled.
In other words, the actual selection of the items for the sample is left to the interviewer's discretion. This type of sampling is
very convenient and is relatively inexpensive. But the samples so selected certainly do not possess the characteristic of random
sample. Quota samples are essentially judgement samples and inferences drawn on their basis are not amenable to statistical

treatment in a formal way.

1.

SATATANA RESA! Shed1 JeleTdent ShIUT 3ATg 2

(1) wYTSIar T (2) wifeaeht fergetyor

(3) Agr=s T (4) TR-GWTEQr T

The Central Idea of the passage is concerned with :

(1)  Probability Sampling (2)  Statistical -nalysis

(3) Random Sampling (4) Non-probability sampling
TR—GHTSTAT TYAT Ugell ShIUTe ATa SHeEEe! STd el ?

(1) e TG (2) frofa T

(3) =rgfems T (4) HEm T

Non-Probability Sampling is NOT known by this name :

(1)  Purposive Sampling (2)  Judgement Sampling

(3) Random Sampling (4)  Deliberate Sampling

e fraserean Ag-arean favervumer snenfta freend forvaerta srg v, <1 :

(a) TNk YAUEgNd FHdd q (b) HMEh I TEAA T

(c) TR 3Thet AYAT fagen @™ (d) EMYRH AT Tgdl aTedT @
TRt 3

(1) =t Td vatg I e, (2) W (a), (b) IV () B AT GATH TR,
(3) H (a) ITUT (b) B AT T 3T, (4) SOAhHT HIVATE T AT TR,
Results obtained from an analysis of a deliberately selected sample may be reliable if :

(a) Investigators are unbiased. (b) Investigators are experienced.

(c) Investigators select a favourable sample. (d) Investigators use statistical methods.
Answer Options :

(1)  All of the above are correct. (2)  Only (a), (b) and (c) are correct.

(3) Only (a) and (b) are correct. (4)  None of the above are correct.

TR-FHTETAT T SARRESHED TYNehTea (Haste U Hgeaqul i 3766 ?
(1) =g fragamr deneehrEn for sifan s,

(2) TNyt TTfesh! favavunfSEm™ % Sid arm .

(3) g JEUEGNG THdTd.

(4) B JARGST HISEHT JTMT HHT = AHl.

Why is the researcher's judgement vital in the non-probability sampling design ?
(1)  Researcher's choice concerning the items in the sample is supreme.

(2) Researchers have to work without statistical analysis.

(3)  Researchers are not biased.

(4) The design is convenient and inexpensive.

T IATATA JEIeTuehl ShivTd faem shetet 3T ?
(1) TR-G9TEIAT T GengehT= o T Agcayul 7.
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(2) TR-\YTSIAT TS HINYTET fo=rehT Bral.

(3) TR-\YTSIAT TS TG T HUCITAT STETt ¥l

(4) I T FifeTsh! faveryur sheamd 31 sy fiesara.

Which of the following statements is made in the passage ?

(1)  Choice of the researcher is very important in Non-probability sampling.
(2) Non-probability sampling results in failure of research.

(3) Non-probability sampling helps us estimate sampling errors.

(4) Statistical analysis of quota samples gives accurate inferences.

YEIe! AN ST TTaR SR 6§ 10 9T 37 2.
R

T ®IS 3T Teiew o3l a1 gF SRAHT HITR SR TG shid! Tgd ST, YT HIER SHTId iR T9R sholedl
SYATR TaedT UTigaid J73f o=t U Bidl, Y97 1 ShiedTd AT Taid Il WSl 38 SToil AT%A Jell. Uit 2
U IR ST AT WIS o fegiet = T gord fored TIel. UohT SIqepicl 1S 3117 fegiet A= g=e1 wergy oA fo=s
HR, 7o I fomm Frearend) S AhiE g et 312,

STEUATAT ST STEfe IT G STTETE! Sdelt 312, TS 1 ST RS SR $ATA IcaTeH by, 3TTed. caaed freges
FHURT $9FTere IcUTeH Hdct SITd. ATETET! 3G TEICH 7 STRal oTd 25 265 39H1a HTesel Sd. TSiieheaT HhidTd has
ST TEUTR] T8 T ST 0T Shefl SITcfiel. 8 ST AT U1 3T Seadi=a] ANTasraret STferehiiee et

I TERITITET 39T §6aTTd hel STd. JUUTAIA STHH 8T <¥1 STfegier= gaid HiaT 3caTeeh 38, WRaeg 3 30
cuend fRfe gaeadiaR 39RTe IcaTed v Y dTe] 3Ted. AR, WIS, 3T, UMW, F1a, S 3T 3w
FAEIAITE 3HTere ITqTe HiaT IAd.

Heeare ME 37Ef 6, TRafe SR 38 Sa5eamet ITe] wehdrd. ATEr ety fhar fegra e I ymmomnd saai
ez o ferr v TR aTwRar Ad. IRAies fegrd 3 20 T8 SIegYHTeR 3A9 YRR dTeld. T SasEFTEISt argrE
3R SEvaTE SR ATEL. SSSYFTT e - SR -JAFarse Fufr gd A, 7 e e v afvrss s,

Gie da fmi wuamEEl e wieaEdt 9§ dnmaE. J8ae e Siad SHeIdud Sesed ITH SRl Id.
JNTEUATIYT Hees HIE S HATFAEZSTAT IcHSHTE THIV Sl 318, I &, T TRIeH ATrarEeand 7= fourd argE
3T SEATI ScANI ohel ST ATEId. FEId = SEeFHdT ST =1 ANESETd! IUeTed JTHIR! FHH ATatE hdcs SaseT

Read the following passage and answer the questions from 6 to 10 :
Bio-fuel
Henry Ford and Rudolf Diesel these two persons made revolution in motor car industry. They expected that their motor car

should be run on fuel obtained from plants, but in those days crude oil was the cheapest and won the competition. Petrol becarnie
popular and dream of Henry Ford and Rudolf Diesel shattered. After a century the will of Henry Ford and Rudolf Diesel is
about to fulfil. Presently the hike in the petroleumn opens the channel for bio-fuel. Slowly the use of bio-fuel in cars, trucks and
aeroplanes is becoming popular.

Brazil took lead in the bio-fuel. At present there are more than four hundred ethanol production centres in that country, that
ethanol produced only from sugarcane. They do not use the pure gasoline but mixed 25% ethanol in it. In future, only ethanol
consuming vehicles will be manufactured in that country. More and more land is used for the plantation of sugarcane and ethanol
producing plants. Gasoline cars are slowly disappearing. technicians of that country claim.

Ethanol is obtained from maize in America. Germany is the largest producer of biodiesel in Europe. Along with India other
30 countries are trying to produce ethanol from various plants. Ethanol can be produced from the plants like coconut, soyabean,
groundnut, palm, grapes and beetroot.

The most important thing is that conventional car engines can be run on bio-fuel. Apart frorn this, the proper mixture of
ethanol in gasoline or diesel can be used as fuel. The conventional diesel engine can run better in 20% bio-fuel. It means there is
no need to change the vehicle engines for bio-fuel. Its speciality is that Bio-fuel does not emit carbon dioxide.

Nature take crores of years to produce crude-oil, instead the bio-fuel is obtained from the plants and vegetation. Bio-fuel not
only emits the low carbon dioxide but also does not emit the toxic gases like nitrogen oxide. The production of bio-fuel will be
depending on the growth capacity of the plants and availability of land for the plantation. Apart from this the production of bio-
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fuel will be possible from the various types of waste.

6.

WICAR! VA 38 HigHia aoReaTe hig 3 fegier o e gom foea e ?

(1) smfega (2) fezm

(3) @ (4) g

Use of which of the following source of energy in motor cars shattered dream of Ford and Diesel ?
(1) Biodiesel (2) Diesel

(3) Ethanol (4)  Petrol

wrelte faem o frerd iaes 9 vata e

fagm : Jesea 7 @S daTen Wi o% Wk,

Treepe

(A) @it et e wieamas a8 .

(B) WS datrean Scasrges fawrl amg=h ffifdt 2.

T I
(1) =¥ (A) s T (B) T (2) foswd (A) 3nfoT (B) ssK
(3) Ty (A) 3mfor (B) o= (4) fr==d (A) 9% T (B) TR

Choose the correct alternative from Statement and Conclusion given below :
Statement : Bio-fuel is alternative to crude oil.

Conclusion :

(A) Crude oil takes crores of years to produce.

(B) Due to crude oil, toxic gases will be created.

Answer Options :

(1)  Conclusion (A) correct, (B) incorrect (2)  Conclusion (A) and (B) correct
(3) Conclusion (A) and (B) incorrect (4) Conclusion (A) incorrect, (B) correct
WIEATIER! HIuT frem sisr s ?

(a) SIS S8 SeaTeATd HATETE! Hefet.
(b) IR SHHIET 33T T el 1.
(c) IO S &1 <N SAITSIT=n Fald HiaT Icareeh <3 3Te.

T I
(1) & (a) SUS 3T (2) TH (a) JTOT (b) S 3T
(3) Wt (a) I (c) TS TR (4) |9 SO AR

Which of the following statements are correct ?

(a)  Brazil took lead in the bio-fuel production.

(b)  Ethanol is obtained from sugarcane in America.

(¢)  Germany is the largest producer of biodiesel in Europe.
Answer Options :

(1)  Only (a) is correct (2)  Only (a) and (b) are correct
(3) Only (a) and (c) are correct (4)  All are correct
WTeAeTteh! ShIUTdT e ser atrea ?

(a) TRARER R IA ATSHATER =T ThaT.
(b) TEIA SR AHIAY Bidie.

(c) STEUATIES TGEYT HHT Bl Ik

(d) SZETHS TR SR SeetuaT ST AT,

Tt IR
(1) (a) AT (b) S (2) (a), (b) 3T () S
(3)  (a), (c) AT (d) S (4) 0 gd s

Which of the following statements are correct?
(a) Conventional car engines can be run on Bio-fuel.
(b)  Gasoline cars are disappearing.
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(c)  Pollution minimize due to Bio-fuels.
(d)  No change of vehicle engines due to Bio-fuel.
Answer Options :

(1)  (a) and (b) correct (2) (a), (b) and (c) correct
(3) (a), (c) and (d) correct (4)  Above all correct
10. EEeA ST WieiieTdenl ShivTd HiEe sRis ATed ?
(a) SISYH STEIITET TIR LT Ad. (b) TS TGHUl HH B
(c) SEEYHeS @HSde arfaal Id. (d) STEYE @ IR,
i ST
(1) (a) 30T (b) (2) (b) 37 (o)
(3)  (a), (b) 3T (o) (4) =het &
Which of the following benefits of use of Bio-fuel are correct ?
(a)  Bio-fuel is made from vegetations. (b)  Less pollution by use of bio-fuel.
(¢)  Use of bio-fuel will save crude oil. (d) Bio-fuel is cheap.
Answer Options :
(1) (a)and (b) (2) (b)and(c)
(3) (a),(b)and (c) (4) Above all

Yot AW T cTaR ST 9. 6. 11 d 15 <t 3w =
TATINT, BIERIUTE AT 0T FHAT Tfera=
Force, Criminal Force and Assault

349. AT (Force) - TG S 31 Shi=a IRt et fmfor sheft fehan ifaereer 3 nifaferm sreqm smmorer sreran
ST T UeTa=al ol 31 SIhI=al SERT=AT ShivTcaTe! Wil fohar o 3= S3h afta sholedn fohal o STesterean
RIS TERA TUeh TS fehalT 379 HUHTYS T 3T k= TI91 Folgak TNUMT BIget STTvehrt feord Seetea hivreme!
TERN Guh TS TR T 1 gerHtean Srft areft At fmier sheft fohan s Tfdeew 3R wifdform T e @ at @
I AT STedd BISERIITE SErT Hdl 318 Tged . "1, Tt fmfor sweom=n foan wfieee svr wifdform wream
JMUTOIAT &b, AT ATYE U HIUATd ITACAT A TRl Tehl Jehr et fmfor sheft sroeft wifgst fohan nfaeear 3w
TR Tggd AT T TIfEd.

Teh : Tod: = AR amed S,

T : T gare 3T feerdia S, i SuiehE T d oA 3T VATl SARhIcN STURET I Sl I 7 ARTAT it
fFrmtor e fehan nifteee SR faferm aga Aga.

A+ HIVTETE] TTOATEAT T BT, Tideed HoarE feha iR svamg & ol

350. TITERIUT SETSERT — S HIUf ShIVCATE] SAhI<AT STadid, I SAhled] GHAITIETR IeTqesh S anT hefl T
AT HIVTCATE I HIOATAT TASHIY ITEA 1T ST ST STedId SATANTT hUITd ITTAT T SIhIE AT TATINGR
et (T et foha ofieft arerelt fohan 18 sgran S = W WA AT AT TATINGSS TH VAT ST HHT
BV TUE AT Tl JA0(E A a, dl 1 3T SIhI=AT A1edid BIsgR! U SAYINT hidl 3 Teeed 1.

351. gUCAT — S hIvfl SISl gTawTe fShar haefigl aam sheft 3nfor 3@ gravTa fohan ot =mged St <hivfl @t gravE
e = i O THET R TECICAT Sh AT STEdId BISIGRIUT TaETEl S9N oAl said 31e 31t et o
ST 7T i Sgrell | I mE ST 3w IS foheT af BIvATE GWE AT Tl il 3 @, 1 gHal
Al I Tgee! .

TIEHT ~ heles ITARCT g B 2HAT AT UG Hied HTEId. I07 TEIE! SFehl o Weg I=HIA ages, S foet grawma
foha qoml € A TRV TUTAT AT 3T ek 37 1 FTAHTET fohaT T UTH B Wk,

Read the following passage and answer the questions from 11 to 15 :

of Force, Criminal Force and Assault
349. Force - person is said to use force to another if he causes motion, change of motion, or cessation of motion to that other,
or if he causes to any substance such motion, or change of motion, or cessation of motion as brings that substance into contact
with any part of that other's body, or with anything which that other is wearing or carrying, or with anything so situated that such
contact affects that other's sense of feeling.
Provided that the person causing the motion, or change of motion, or cessation of motion, causes that motion, change of
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motion, or cessation of motion in one of the three ways hereinafter described.

First - By his own bodily power.

Secondly - By disposing any substance in such a manner that the motion or change or cessation of motion takes place without
any further act on his part, or on the part of any other person.

Thirdly - By inducing any animal to move, to change its motion, or to cease to move.

350. Criminal force - Whoever intentionally uses force to any person, without that person's consent, in order to the committing
of any offence, or intending by the use of such force to cause, or knowing it to be likely that by the use of such force he will cause
injury, fear or annoyance to the person to whom the force is used, is said to use criminal force to that other.

351. Assault - Whoever makes any gesture, or any preparation intending or knowing it to be likely that such gesture or
preparation will cause any person present to apprehend that he who makes that gesture or preparation is about to use criminal
force to that person, is said to commit an assault.

Explanation - Mere words do not amount to an assault. But the words which a person uses may give to his gestures of

preparation such a meaning as may make those gestures or preparations amount to an assault.

11. 31 UeRt AE=a1 AT HEeht €Ig @R, 3 81 FATe A’ R gl TSIl AATauared Sard A 3t e o
TSR SETE ST ‘3T O 3T 3R R ST T AT HelleN T TgUTAT A ?
(1) Sy (2) ISR ST
(3) wHa (4) aferht That T

A begins to unloose the muzzle of a ferocious dog, intending that he may there by cause Y to believe that he is about
to cause the dog to attack Y, A has committed

(1) Force (2)  Criminal Force
(3) Assault (4) None of the above
12. ‘@ T AW T AT I A AT I = (A T4T) FHATIAS e WAl @ 31 < el .. L3R
(1) weTm (2) ISR ST
(3) wHa (4) =MhT ThET AT

'A' intentionally pushes against 'Y' in the street. 'A' has done so without 'Y's consent, interding to cause injury to
'Y'. The act of A is ---------

(1) Force (2)  Criminal Force

(3) Assault (4) None of the above

13. Tociesn ufeseresn 3ETH géia faemmiaeRt shivw faam/faam ster smg/a?
(a) T I FEE BRI I A, T AT VA - & a6 CFHAT AT Held HiSd.
(b) ‘31 TR E=T L@ g Aedl. faar Hidt ared fohan I B A SvfiE THAET & o= gudiared
T el -3 7 ferean Srarcdia WIS ST hell IR,

T I
(1) (a) ST 3T, (2)  (b) SUST 3Tz,
(3) (a) 3T (b) S8 SIS 371 (4)  (a) 3T (b) G < 3T

Among the following statement/s in relation to the paragraph given, is/are correct.

(a) 'A'saysto'Y'that I will give you a beating - this act amounts to Assault.

(b) 'A'intentionally pulls up a woman's veil. 'A’ does so without her consent knowing it to be likely that he may thereby
frighten or annoy her. A has used criminal force to her.

Answer Options :

(1) (a)is correct (2) (b) is correct
(3) (a) and (b) both are correct (4) (a) and (b) both are wrong
14. @ WH Hid MR, 3, T T GHANEE ATeSean uvamed Ihesd UIolt, § Ihesd TR ¢ AL SRR A,

TR T A15e 86 38 R o1 < & hall_ TR,

(1) ISR SIS (2) wmel

(3) TS (4) TR THE TR

'Y' is bathing. 'A' without the consent of 'Y' pours into the bath water which he knows to be boiling with ill
intention, 'A' has committed

(1)  Criminal Force (2)  Assault

(3) Force (4) None of the above
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15. ‘9 SERTE @HE g

(a) TFd:d WTRER G I,

(b) TETer et 37e TR I, i SAoiehE Tad ol fehal 371 ShIVTCATE SAhICT STMUTE Shiel shefl SOt T TRTAT
Tt T BISe fehall TTideee 3T TaTeR™ =g Asd.

(c) TRIVICATE! TTUATEAT TIITHH BIUATH, Tidaee hvard fohdl Tl HUaT S&d = vl

IRl I

(1) & (a) (2) (a) 37T (b)

(3)  (a), (b) 3T (o) (4) STtk Thel el

Force includes -

(a)  Use of own bodily power

(b) By disposing any substance in such a manner that the motion or change or cessation of motion takes place without
any further act on his part or on the part of any other person.

(c) By not inducing any animal to move, to change its motion, or to cease to move.

Answer Options :

(1)  Only (a) (2) (a)and (b)
(3) (a),(b)and (¢) (4) None of the above

Yol AT ST TTaR 3eTRa 16 o 20 Tyt 3w forgr.
0. oA, —foram T sTEus

HIE A ATHATETS! TG 1A & AT & hell 38, T T8 AGL heledl ShSaRIFEaR T4 2019-20 I1 auf=a
AT 140 TIALT Aqh=ATIh! haled AT Iqeh=ATaAd AT AT AT War=el 372, ol gHT ¢F ST AT Aaeh=T=1
T S @I 12 37h! IR AR SSeiel A& d ATIEd dred TEUR 3Ted.

_T IR AT Thal 2 TR 318 aWeEl 6 BN IE TedTd AT A Adh=HT ¢ o= 3cqd Eat IdTael Sl
fe. 24 garll 2019 TS gfgeT BRI ST A1 ASHE TRH A

el foedmeT T |9 2019-20 F1Et ALERfcqd 75,000 HIET A G hE IR0 ATl Afdel. 21, 2019 w=id
A 32,577 Il TeUNd 43 285 T8H @9 hall 3778,

YR Aigult, TR FEATAT ST Sl = e T8F AU WA fohe=rehe -g&a Aeull AT A1 A= Tl Heraet

feder o o<, TR o et ST SATTEe o Aieder A1 HieraEtd AT AleHd Ushs FEATU Bid 37Hd, Ufeed gecareed feger
2018 o UTE 2019 TUIN SEa3U™ 70.2 goAed w1 14,055 il U HTet. GHAT Id TR 2019 o et 2019
TR hac 59.2 A AAHAHT TRV 11,845 idt fodid wwam@ 3. fod=n g« @ 33.3 Suae Aah=aH=
6,677 Wi foadia shvara e,

AT HAhSIRIIT! Hrel Fivad RO 3Rd. SR ufgedt g 70.2 SUee aeh=i-T Ay el al g8 gHT haes 59.2
TRIcte] JATIT T 2T Shaes 33.3 SIcted MaehAHTE ol el ?

Ffl T GHT AT 37T holdl! WA B g 6T A R HIRiHT Aieui SRR shelt Bidl. et T,
2019 UM iguit Shetean ST A1 HesTeiea Srash==ri-rel Yo emreff Tl JTd. wIge ufged gwedial dendt emureff
T et ferm.

AT HHEE T3rIerye & Fae el 312 6, wehw defid 140 gureret el 71 gueied Saeh=aT T@H SuaTd SATel
IR, FECd ATet gaTagar aneff Jan 7,17,42,959 THEl 3. Teueie VG 69 gueie Srashdd aradid anref sgre
AT,

T HTHSATTEAR A1 Freined fsdist 2018 § A< 2019 SN 33.3 TCTed Idh=aAi-1 <A1 STl 3718, 1 i g8 et
IR, VG 25.9 oA (THA-Tt SOIM) T 11 SoAel (MR -leask M) 38 Sdre omiefi 3eesd Jard.

TS SMHAGITAR SAT AqH=A e o Asid Gl heft 31, =i IRefiarge starefa i\ &8 frerat
MR, T ST GEAT T0AT HIeult hefl 37, T §F g0 fHesTel 318U, I A1 At Ay qaaef) .

Read the following passage and answer the questions from 16 to 20 :
Hurdles in PM?- Kisan Scheme.

The Modi government's cash-for-farmers programme has been able to benefit only half of the 140 million farmers targeted

in 2019-20 due to implementation hurdles, according to figures presented in Parliament. The next disbursal, now due, is likely

D
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to leave out those who have not been able to link their bank accounts with Aadhaar, the universal 12-digit biometric identity
number.

Under PM-KISAN, the government provides income support of * 6,000 a year to farmers with a valid enrolment, paid in three
equal cash transfers of * 2,000 -one every four months. It was launched on 24 February 2019, when the first installment was paid.

At the current rate of expansion, the government is unlikely to spend the entire *75,000 crore budgeted for 2019-20. As on
October 21, 2019, the government has spent * 32,577 crore, or 43% of this.

Aadhaar-based enrolment and cash transfers, slow internet connections in many rural centres and messy land records have
slowed the programme, the farm ministry told a parliamentary panel this month.

Cash transfers under the programme take place every four months : December to March, -pril to July and -ugust to November.
In the first installment period (December 2018 to March 2019), nearly 70.2 million farmers received a total of * 14,055 crore. In
the second tranche (April to July 2019), only 59.2 million were paid a total argonaut of 11,845 crore. The third installment saw
33.3 million farmers benefiting, with a payout of 6,677 crore.

There's a reason those numbers look out of place. After all, if 70.2 million farmers received the first installment, why did
only 59.2 receive a second installment and only 33.3 million a third ? The agriculture ministry counts the first tranche paid to a
farmer, even if it was paid for the second period due to late enrolment, as the first installment paid'. This means even if a farmer
enrolled in the second period (April to July 2019 ) and got his installment for this period as his first ever cash transfer, he will be
counted among those receiving the first installment (December 2018 to March 2019). This inflates the total number of farmers,
as shown above.

In all, of the targeted 140 million farmers, nearly 71 million farmers have so far received the payouts, as the ministry noted
before the parliamentary panel. I would like to make it clear that the total number of farmers who have got the benefit is right
now 7,17,42,959, a ministry official said in the report to Parliament

That leave another 69 million to be targeted by March. Based on these, 33.3 million farmers benefited from the scheme
between December 2018 and March 2019 (they have received three installments), with an additional 25.9 million benefited from
it between April and July (they have received two), and an additional 11 between August and November (they have received
only one).

According to the scheme's design, farmers registered for the scheme in the first stage would have received all three installments
released so far since the start of the scheme. Farmers who registered during the second period would not have receives the first
installment but would have received the next two, because the benefits are not retrospective.

16. @reiter faam foemma = :
(a) H.um. -THa THraTa a3t Ted 6,000 (31 ¥9 TE1 g9R) AT feeft o,
(b) & Hed e feeft .

T I
(1) (a) % S 3R, (2) (b) B TS TR,
(3) (a) T (b) TET I TR, (4) (a) T (b) TE T 3T,

Consider the following statements :

(a)  Under PM-Kisan, the government provides income support of 6,000 in a year.

(b)  This income support is released in instalments.

Answer Options :

(1)  (a) only is correct. (2)  (b) only is correct.

(3) (a) and (b) both are incorrect. (4) (a) and (b) both are correct.

17. W@refe faem feemm = .
(a) W.wm.-fram IS SESSTEUid qed 32T 3R,
(b) ImER-gft (AR tfiverg et surEion g e AR,

Wﬁﬁi:
(1) (a) eh SUSR 3R, (2) (b) %t ST 2.
(3) (a) T (b) Q& =H AT (4) (2) T (b) LT SR 37T

Consider the following statements :

(a) PM-Kisan's implementation has basic lacunae.

(b)  Effective linking of Aadhaar-land records is needed.

Answer Options :

(1)  (a) only is correct. (2)  (b) only is correct.

(3) (a) and (b) both are incorrect. (4) (a) and (b) both are correct.
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18. T ITATE IFW hered! Ars= GE&I 3 q AL ©

(a) Sdeh=ATEl YR Fieuft (b) AR FTE Flarem o
(c) AqH=ATET IcUF EX AT (d) Sftrfe 9 srEETEd o
gt 3
(1) (2) 5 (2)  (a) 3T (b) BT
(3) (©%® (4)  (c) 3T (d) BT
The purpose of the scheme mentioned in the passage is :
(a)  Aadhaar registration of farmers (b)  Provision of internet to farmers
(¢)  Raising income level of farmers (d)  Update of land records
Answer Options :
(1) (a)only (2) (a)and (b) only
(3) (c)only (4) (c)and (d) only

19. W.uH.—fFam demared S8R 2018 § | 2019 SEIH=AT Uleedl g6t Iaehdi=l Tael Sudi< Tehe gEaialul
THOITA ST :
(1) 14,055 ®i& (2) 11,845 =it
(3) 6,677 I (4) 75,000 it

In the first installment of the PM-Kisan scheme between December 2018 to March 2019, cash transfer to farmers
was worth rupees :

(1) 14,055cr. (2) 11,845cr.

(3) 6,677cr (4) 75,000 cr.

20. Ut.uA. - fRE™ i S HASSTEU @ TSU TR ¢
(a) 3TERER AT Figuft
(b) 3T A ™
(c) FeTHE=AT =T Hfaen

IRl I
(1) (a) 3 (b) B (2) (b) 9 (c) B
(3) (a) T (c) Bh (4) o0« ¥d

PM-KISAN Scheme has these implementation hurdles :
(a)  Aadhaar based registration

(b)  Incomplete land records

(c) Inadequate internet connectivity

Answer Options :

(1) (a)and (b) only (2) (b) and (c) only
(3) (a)and (c)only (4)  All of these
YEIet AT ST TaR SNeie 21 o 25 TgATei 3 .
iR 3w

AT TSI gu=a1 fEmTeAT HErA edieRie eeaTehyul IRhIeAT T TEE aEqEal Tde aHih drsfed
AT, TECATRYT 961 & JEiel THIHUTH grgaet SATd.

inGrg}/[e

3% G eV AT TecaTRy e, T TRV TETdTE SEqEH, Me TEUS g SEqEM ST R TEUN YAt ShaTaTd
TereRiae SR, & foveryonEaR qedivied o= SuRTeTede T e R I S e e e age ang
BIA. SR e (1571-1630) I+ Tgr=a Fg@radt fewaren Fiemasd S 78-Tdiemed 91 = gy #ed, 4
gl ST T SRETea il @ d WIS ™ol odl Adid

() G IR JeHIad! AeaqahR Haid TaHM STHATd 9 AT Aaaqer=aT Tl shgreil Jeal 3THd.

(1) 3ug geefiuradt fRtam 3ue Snfor geefir ShaTem IMT v 31t A1 hamefiel THa THaed TR .

(1) HIVTITE! ITETET HTedTehTeAr=l (TRYHUT SHTAT=T) a1 BT AT Ha<aT Y SISl (ATe - 3Tar=an)

AT AESHTONG 3TET.
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YT BRI aEqEIE] UM TEcaTehyUl §d § 3G [EX A STd. 8l R= Re + h, 3¢ Re TEUN Yealt=it
Brsar, h RS e YRR S 3, T TEcEhyT 5 34

7 3e™ F=G§7¥emﬁ|ﬁﬁ{3ﬁﬁﬁc h<<Re.

7 fooR 9@ JEefimm Mg 3% 3T8d. AT g TEUSE ek gad oAl
(31 : Afveeh TEcATHYI fERTH : G=6.67 x 10! N.m¥/kg?, G2 FEqUH : Me=5.98 x 10% kg
3T g BISAT : Re == 6.37 x 106 m)
Read the following passage and answer the questions from 21 to 25 :
Physics Passage
The general motion of a massive object under the influence of the Earth's gravitational force can be solved in closed form
using Newton's second law. The gravitational force is given by :

GmMe
R2

Where G is the universal gravitational constant, m is the mass of the object, Me is the mass of the Earth and R is the distance
of the object from the center of the Earth. One result of this analysis is that Kepler's laws can be derived for satellites orbiting
the Earth. These three laws were originally discovered by Johannes Kepler (1571-1630) based on observations of the motion of
the planets about the Sun.

They are as follows :

(I)  All satellites move in elliptical orbits with the Earth at one focus.

(I) A line that connects a satellite to the center of the Earth sweeps out equal areas in equal times.

(IIT)  The square of the period of any satellite is proportional to the cube of the semi major axis of its orbit.

For objects near the surface of the Earth, a great simplification in the mathematics occurs by approximating the gravitational
force to be a constant. Let R=Re+h, where Re is the radius of the Earth, h is distance of the object from earth surface. The
gravitational force can now be written as :

F:

_ _GmMe
(Re + h)?
Which is approximately equal to F = Ggé\z{[e when h<<Re. This constant force is usually set equal to mg, where g is defined

to be the free-fall acceleration. (Note : G=6.67 x 10"!! N.m¥kg?. The mass of the Earth is Me=5.98 x 10** kg and its radius is
Re=6.37 x 10° m)
21. OREAT™ SHEEA gF TEHM SHETY TS Tl Rhet. THeThtul a9 ¢ R 3R 318 TWeiel, T Suuwirea
WITHATTAR Sivgl e JAean USHITIER UehTl o8 TGS, TUT SR ATEAfareh act Teid &R T &
(1) ST IEqEH STETe Ml Y| 3Teesd.
(2) S SEIEH TEAAT TS Y2UH TS
(3) T8l b TehTa dadd Jeesdie.
(4) Sl FHTEE AT, HROT T TN ¢ TR S eI ey Jisfdr Jum e
Two balls of unequal mass are dropped from the same height. If the gravitational force is assumed to be constant,
then the theory predicts that they will hit the Earth's surface at the same time. If the actual force is used instead,
then the theory predicts :
(1)  that the ball with the larger mass will hit first.
(2) that the ball with smaller mass will hit first.
(3) that they will hit at the same time.

(4) nothing, since the equation of motion cannot be solved without the constant force approximation.

22. TTCACIUh! IV UGTaE &t e id Ut 3 Ugraiet geaiean TS HATIRA=h 39t e Sae guifd ?

(1)  G(Re+h) 2)  2G(Re +hy
GMe GMe
" Ret+n) @ Retn?
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Which of the following expressions shows how the acceleration due to gravity depends on the height of an object
above the surface of the Earth ?

(1)  G(Re+h) ) 2G(Re +hy
GMe GMe
O Ret+h) @ Retn?

Yoo eI R A SRS m 3AFIT TEGHTTET Ush SUTE TR hemed fhea 3. SR R @ 3R 4 e
@A, T AN hET HTeAdhIA :

(1) <SR AT& (2) 4 9H e

(3) 8 9 Ted (4) 64 wH aRA

A satellite of mass m is in circular orbit around the Earth at a distance R from the Earth's center. If R is increased
by a factor of 4, then the period of the orbit will be :

(1) unchanged (2) increased by a factor of 4

(3) increased. by a factor of 8 (4) increased by a factor of 64

goefiea U R I1 3ARTER Teh SUIE TEATHR herd fhd o1, IWIE ¢ a1 SiFga fRamT same SIom e A =
R2(/2 STTR. heeAtea g1 FHEWTIaR 38 Giud 2id i, SUUETEN 24 SiFTgash! SUATHTST ARTOTRT 396

(1) ¢ SEARE ST G 93 AT,

(2) ¢ BERE ST YT 9B AT,

(3) ¢ HHTG ST JSTAT FTEART Je3 AN,

(4) ¢ HHG STUATEARE T I3 AN,

Consider a satellite in circular orbit around the Earth at a distance R from the Earth's center. The area that the
satellite sweeps out as it moves through an angle h is given by -=R24/2. Kepler's second law implies that the time
that it takes for the satellite to move through 20 is :

(1)  double the time that it takes to move through (I)
(2)  half the time that it takes to move through (I)
(3) the square of the time that it takes to move through d)

(4) equal to the time that it takes to move through (I)

oIl HEUEA R 3AFN SIAUER m IAFAl TEGHETEAT Ul SIUETONEN MW USSR S
E=GmMe(RL—%)gmm.m@mgﬁwmm@h:ﬁawmwﬁ it feret
am feem Wi 7

1 1

W (Fe) @ ()

(3) (2¢h)* (4) (2mGRe)"

The amount of energy needed to move a rocket having mass m from the surface of the Earth to a distance R from
the Earth's center is E = GmMe (Le - L . What is the minimum velocity, the rocket must have in order to
completely escape the Earth's gravitational field ?

m () @ (3G

(3) (2en)* (4) (2mGRe)*

el AT ST TITeR STERA 26 o 30 I 308 o
TIEIAGEHE IaTed, FTABESH, ASIBEeH, IHFTsIS M SGels &I T FHE 3THAl. WaTes & ghaged

FTgeial, i, Ta: 3T T TR LM ST TEdshaes! IT0ATd SHTITHT S9! 3Td. B SETd e STHUI=I TEeATER
3TfoT Tfed SO STHYRRITHR <= i 7T Sfiehtor Bid. T8 Y, FARIBRE, TFareret s sarerered. saresmef

BTG ¢ SEdhocs] ATelged) fa@eTes, 3Tcifiteh &1 fafaesepr=an fasmpes 1o <iffre & fafay sehre ied 3 tware
feha fafae SRR 312raT 3TTfHeh STHAT. STIBISeH & I-Eqd] HIAHE S SIehd, W oifiTeh AECATCATIIS! ot qTosmen

ST A, B eIl IR B AATSUET 3k foehfid 16d. & Siaymm =Iue Jen 30 0 Wefld STo@ Josi1

Taehectel 3T, WY YBTIHTON, THTSHIO STTT WISSH 3Ta9d 9. SRwEed & "l 3 foegtaied & g4 merd
favmTerel radrd. foregtaidam IR 8 Asmmer T AU 3TEd. X Hid 7 3N d1eUR, 376 WISTEX 3Tdd Jegai= aTgur=

an
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A 3T, SRS J&F 37 § THeH qaR v 376, TeU[ cITa THIhIge 318 TEurdrd. cTek 3f-afgan g qe form
T IR 3 ST 316, 8 3 & &Sl A= FAT Bl FRAIE TR 2ld. S TIRIGEE Adr= 3 URii= 37T
TIR LA, d TA15e Sl TIR HLATd. ST A THRRIR IHd giard.

EmTEeTHsd gET IR 3 TRI%EES 3T, 3 Tes, Wi ST IHid fI9rTere 3. =1 @ STeaaimed g are et
30k STHATT. THUHRH Sol TIR BT TS AT, Sl 208, INAT AT STHAT Bl AT THBIRH TR
BIATd. BT THEIGReHat J&y form-3wafean i fifer stermiet aredrd. gey it & qruer=an difaera STREH3TeR
Y AT AN TR TR 2. & TR H:99 TIRIBIEeques 37hdd ald.

IS B STEIdHE 37 (3Tegd) 2 hIVcATa! Jeheal STEXUHe Sickd T8d. HAFIRU-at dar BRI &t &
G 3TEATd, FEUE T SHET SSUR Serdt STE revrdra. & R, wrren saRdhreeme sifagen sie s
HIS! S & STIRH ARGREINAT ST eI E TR hdid. & GEeaRhia 3T d1dt TIRIhIed, e
JEATHIY TECIel! ST, St 3TIshH G I 3T & ¥ TR HLArd. WU P Bl I8 & & WIHSHYT
HE SR Higel STd. 1Y = ST FA0 83 SRATE TR &id. JRATE & THIG a STeele & Seid 3.

Read the following passage and answer the questions from 26 to 30 :

Plant kingdom includes algae, bryophytes, pteridophytes, gymnosperms and angiosperms. -lgae are chlorophyll-bearing
simple, thalloid, autotrophic and largely aquatic organisms. Depending on the type of pigment possessed and the type of stored
food, algae are classified into three classes, namely Chlorophyceae, Phacophyceae and Rhodophyceae. Algae usually reproduce
vegetatively by fragmentation, asexually by formation of different types of spores and sexually by formation of gametes which
may show isogamy, anisogamy or oogamy.

Bryophytes are plants which can live in soil but are dependent on water for sexual reproduction. Their plant body is more
differentiated than that of algae. It is thallus-like and prostrate or erect and attached to the substratum by rhizoids. They possess
root-like, leaf-like and stem-like structures. The bryophytes are divided into liverworts and mosses. The plant body of liverworts
is thalloid and dorsiventral whereas mosses have upright, slender axes bearing spirally arranged leaves. The main plant body of a
bryophyte is gamete-producing and is called a gametophyte. It bears the male sex organs called antheridia and female sex organs
called archegonia. The male and female gametes produced fuse to form zygote which produces a multicellular body called a
sporophyte. It produces haploid spores. The spores germinate to form gametophytes.

In pteridophytes the main plant is a sporophyte which is differentiated into true root, stem and leaves. These organs possess
well-differentiated vascular tissues. The sporophytes bear sporangia which produce spores. The spores germinate to form
gametophytes which require cool, damp places to grow. The gametophytes bear male and female sex organs called antheridia and
archegonia, respectively. Water is required for transfer of male gametes to archegonium where zygote is formed after fertilisation.
The zygote produces a sporophyte.

The gymnosperms are the plants in which ovules are not enclosed by any ovary wall. After fertilisation the seeds remain
exposed and therefore these plants are called naked-seeded plants. The gymnosperms produce microspores and megaspores
which are produced in microsporangia and megasporangia borne on the sporophylls. The sporophylls - microsporophylls and
megasporophylls - are arranged spirally on axis to form male and female cones, respectively. The pollen grain germinates and
pollen tube releases the male gamete into the ovule, where it fuses with the egg cell in archegonia. Following fertilisation, the

zygote develops into embryo and the ovules into seeds.

26. VETS TR E FAHS! WTeiall AT AT ATHEN Ak TehT=! Tged BT,

(@) a0 faam qoid st 3R, by o faumrdea gafed st 3.
(c) ot forem quiudl = 3R, ) o faumrda @iy 9 3.
T I

(1) % (a) (2)  (a) AT (b)

(3) ®® (d) (4)  (b) AT ()

Algae is dependant upon other living organisms for their food and they have various pigments in them.
(a)  The above statement is completely correct.

(b)  The fornier half of the above statement is correct.

(¢)  The above statement is completely wrong.

(d)  The former half of the above statement is wrong.

Answer Options :

(I)  Only (a) (2)  (a)and (b)

@
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(3)  Only (d) (4)  (b)and(c)
27. T FAEAAHED YUT ATE At Iaeh STEATT UG A S 6.
(1) e (2) TR
(3) A SGUR FEAdt (4) ol THE AT
Plants having well differentiated vascular bundles; but lacking proper seeds are ------
(1) Algae (2) Bryophytes
(3) Gymnosperms (4) None of the above
28. IFTET SR STEAAHE LR st T TR 2.
(1) WCARSIST 5 YEAETRITheTeR aTed. (2) WSR-S S YEHEIIheTeR dTed.
(3) WICARISIST S BTEqITheTaR aTed. (4) WSHRARAST S HTEIIheTeR dTed.

In gymnosperms, microspores are produced in
(1) Megasporangium borne on Microsporophyll.
(2)  Microsporangium borne on Microsporophyll.
(3) Megasporangium borne on Megasporophyll.
(4)  Microsporangium borne on Megasporophyll.

29. TGS WL TAE Al JWEA dIR FATd.

(1) 3 9 wirmdeg (2) 3 9 e

(3) TH WA THEEY (4) TH TR TIREEY

In bryophyta, haploid spores are produced in

(1) Multicellular sporophyte (2) Multicelluar gametophyte

(3) Unicellular gametophyte (4)  Unicelluar sporophyte
30. gRA Z3 WTEATCTh! HIUTE TIATE STETHT AT ?

(a) TS (b) FRETHEH

¢ e d) FFEE Sud 9

IRl I

(1) &% () (2) (a) 3T (b)

(3) (o) 3 (@) (4) (). (b), (c) 3T (d)

Chlorophyll pigment is present in which of the following plants ?

(a) Algae (b)  Bryophytes

(¢)  Pteridophytes (d) Gymnosperms

Answer Options :

(1) (a)only (2) (a)and (b)

() (¢)and (d) 4 (a),(b), (c) and (d)

et AW AT e SNENa 31 d 35 Sy 3T o

SiegT HiguTelt SfHeR Ted deal HIdid STHUR SETU] ma STEHHUT HidTd ST HISHIUANe Jeehiel aaeadi-T 3Ugw
AT FUTA AT, FTEAAAR o ST YeTgR YT HdTd. FISUTATd STEUR Hfgy gered wiiferes 3arfor Fiutifes Sy
ifeas g1 St fafay ormed Iuetsy srEdl. e TR BV HIEHSRISTFITEES &1 SIshe ardrerend fea
ST I AT SGeaTd STaraRuIdie STfeds ST Saal SITal. & Sfeas 37T weaer™ sifadmge= carureeamT ar= I&,
AT e, SEAvTRT gTel, Hd = e geTel Ufshaged &id. STegl Jieumil Jfiier <rehel ST degl HATfFase TEmfew
i G& Bl aed ATgumvaTdiel Sigs geshiel SfHder Sfarv] STifeaeer idrd. M dcd g Hifdes Sk strmha
BT FTSUTUIT=AT J[EIhTT skl T dcd 3178, Steat aneureft Sftfrean fafay e Tsefia 2id, deat @ fafay w0
St et gen fogmed sTeshad 3aat Tard. Tt QAT Al e i Sfam] e Affedges wad. &
wiferes ke Y SfH=a TehrreR STacied 319d. Ty HishesdT, ofieR, g Ffrme & mesur sk 3tfass 3aw amfor
FHIITHRE FEd. S AN Foehe AT &1 TMe30l Aishaerd! el 3Ugth T8d T TSHics THHA &l e FRIET! gurd:
Freqamft 3.

IO UTUTel JHIOT QU ST 379d o Femufsraamd! amet JTd. Sieumvames TRideE, Tekem, Biehed S
Tfe et TS AT TEVH oI WNUHEY S 3THd. I Geehiesd HISUTUITE] AT ST Tad: < el i
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HE IR, I Y FEUUAHS ARG INUHed ded 9 fo= 9id gURdl. 96 SR hivd fie SRe g e
ML JTEUIAT HISUTUT=AT JHTUER 3T geifar feiia ared.

Read the following passage and answer the questions from 31 to 35 :

When sewage is dropped on land, the bacteria present in the soil attack on it and convert the content of sewage into plant food.
The latter gets utilized by the roots of the plants or crops. The organic matter present in sewage undergoes decomposition by
aerobic and Non-aerobic bacteria, but it is profitable to provide acrobic conditions for the disposal of sewage by land treatment.
The oxygen that is required for aerobic decomposition, is present in different layers of the soil. The Co, produced as a result of
decomposition is given by the soils and in turn, atmospheric oxygen is absorbed. This interchange of oxygen and carbon dioxide
take place by wind movements, difference is temperature and pressure, drainage of soils and many other processes. When sewage
is applied on land, the chemical process of oxidation takes place in which organic matter of the sewage is oxidised by bacteria.
Filtration is the principal physical action that is involved in the purification of sewage by land treatment. Sewage as it passes
through the layers of the soils gives out suspended particles which are retained by the voids of the soil. In presence of sufficient
aeration, these particles are oxidised by aerobic bacteria. This physical action mainly depends on the nature of the soil. Most
suitable and satisfactory filtration takes place in porous, loamy or sandy soils. The heavy soils such as clay are not very suitable
for filtration, while rocky soils are most unsuitable for filtration,

The major portion present in sewage is water, and it can be used for irrigation. Sewage also contains nitrogen, potash,
phosphate, organic acids etc and so it has a good fertilizer value, because these constituents present in sewage can be directly
used by the plants for their growth. In this way, sewage increases the fertility of the soils and also improves the condition of the
soil. The type of crop that can be grown, mainly depends on the quality of sewage and health regulations concerning the use of

sewage on Crops.

31. wreuvEamed T e - ———— TN/ 3T,
(a) Hfga o (b) EESH
(c) U U (d) Trfi
Rl 3
(1) (a) 30T (d) (2)  (b) 3T (d)
(3) (¢ 3T (d) 4) @
The major portion of sewage is made up of :
(a)  Organic matter (b) Nitrogen
(c)  Particulate matter (d) Water
Answer Options :
() (a)and (d) (2)  (b)and (d)
() (c)and (d) @ @

32. wTeleTaehl v e g s ?
(a) ST 977 Tifeeh sTTeeaTe, wifss eea = foet sma JrE.
(b) Y WITAT Meavfshad e food ST ATET.
(c) T THeTel TfgT AT AT Gk el Hidrd.
(d) TEHIS THH, BT Ffshe T TSR T IUIH &

IR I
(1) & (b) 3 (c) (2) & (c) AT (d)
(3) (), (b), (c) (4)  (b), (0), (d)

Which of the following are incorrect statements ?

(a)  Anon-aerobic decomposition is not preferred over an acrobic decomposition by bacteria.
(b)  Porous soil is not preferred for filtration.

(¢)  Organic acids present in soil decrease the fertility of soil.

(d)  Rocky soils are unsuitable for filtration and non-aerobic decomposition.

Answer Options :

(1)  Only (b) and (c) (2)  Only (c) and (d)
(3)  (a), (), (c) @ (b),(c), (@)

33. WIEUUE FEIH WTEME TR ——————— % .
(a) s fomam (b) TEERE TR
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(c) hIEH SRASTFETES (d) Sy

IRl I

(1) (), () (2) (), (0

(3) (b), (@ @ (b),(c), (d)
'The sewage is converted into plant food by :

(a) Physical action (b)  Chemical action
(c) Carbon dioxide (d) Bacteria
Answer Options :

1 (@, () 2)  (b),(c)

(3)  (b),(d) 4 (b),(c), (d)

HISUTUATAT SIETu] ATt 0T Tifereh SToeeTean Ufshaa

(a) SIS FHAAT HTFISH & T3 AT el Sl

(b) TR AT hle SHAFIESH! JATSeH ATATaoITdI e ssT &ld.
(c) wrdi=a fafay o Iucistr ITEIe e SHEATFETSS STl STal.

1 e 1
(1) (a) A (b) (2) (b
(3)  (b) 3 (¢) (4) O Hivde! e

During the aerobic decomposition of sewage, by bacteria

(a) the required oxygen is directly taken from the atmosphere

(b)  the produced carbon dioxide is interchanged with the atmospheric oxygen
(c)  the carbon dioxide present in different layers of soil is used

Answer Options :

(1) (a)and (b) ) (b
(3) (b)and(c) (4)  None of the above
Wieferdeh! Shiord faem s o ?

(a) Ul & siifeen fopan IR,

(b) TTAHE TR IeiedT TSt ATATERudI hla- SHITFIEE SUaE! STeaaed aaHMHTeR  STaced 37Hd.
(c) wredoft, A= giueshdr aread.

d) @ e swee 3 Wissh fohar Feifees StamgR g@.

TR ST
(1) & (a) 3T (c) (2) & (a) IATOT (d)
(3) @ (b) I (d) (4)  (a), (c) M (d)

The correct statements from the following are :

(a)  Filtration is a physical action.

(b)  The interchange of oxygen produced in soil and atmospheric carbon dioxide is temperature dependent.
(c)  Sewage increases the fertility of soil.

(d) Decomposition of organic matter by bacteria could be aerobic or Non-aerobic.

Answer Options :

(1)  Only (a) and (c) (2)  Only (a) and (d)

(3) Only (b) and (d) (4) (a),(c)and (d)
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SIS HTATHNAT TSTeh ™ TeaTed Tael g& erett. Frga™ MIeAvrasT Teiehi geaarartyer Tsehid Jer=n uTfdsT g grdl.
IREAITE HR YTH AT, R ST TR TEATTEIE 3Ted I TSTh qTSaT. TTh TeaigR ANeafireh Saedd geaarrs
3159 B BT 3, hIVIdal, HIVTATE Terehrd reqor fireg 1. S7fo7 SIS arien Eaiior foehE gran. & STeRisH® a1
IR <1, TSI TTehi™ 1&10T 2 (WX TeUrSt, |HIiieh Iiaa-Te Sifeeieh! 10T Shi0T) TaTasgd Shleldiel AefTeh saawdia
Rreqummie HHHed g 3 3118,

THEAS!, WAAITHEEET §UH FUa] ST Tsehia Reqor <om=a "I SHIu=ieh Je1 g1 3159 dcdl. Jaw,
TER qTeTt hrel S7et Torehia freror wgM shel wg o Heftan Tyuiue Iwi wE wehel ATar anfor ffga feadeemh Tesadt
& AT Tea Hesq Tohel TR, NTBTITEATETE il ST HET, T, SATeAhegd TSl RI&0T JH v
e Bell, TATIaeR TSl UITETEda! & Feurol ] ued.

TR HISHE AU T AT eI YgH HoImed Tl w6 Tehall A8l 3¢ HTE USell, 318 Taedd ail glehd
ATEY. Ierend, ferreTeEd € s T HARSHehigd el . cwehl € ufgel gee et R, TEhTE S geha
FEA T ATAT TIEdeg Ueedi=, dearal AU forier swivam 69 miefift stvemen feot. e favam® gar i, @1eg e
TIYET HETT 3178 SATI07 TG Shefteiiet 30T Fafed A el i ki, 3 v geryg yerer frdeg Tgdi=
ot oA 89 THIE TR, SARRHIS!, THETEIE fohal TeagiaTd! e, SHThaT- 1 TSR iUl HTHT=I ST6 STel! 3718,
et Fregureaen & wafa seTien aeivaTen Tdad qifeaT ¢d 38 3T Sf=rdn qredia ol S-ad 31T, JRET SHIvd 8
ToehI TreaoT QU BSfed UTSet A ST I=erd ATel drid & aieerdt Seeem AT, 3T gieen Rtefir gumrE T
TR ST SR & AR STl ATal R So=ieh o= foemmeeeed %as M 41 2lsd St e 94 ¥ gl feud™
TITSET <5 SATVT HERTHT ATHIh THEATH STSUBT 3.

Read the following passage and answer the questions from 36 to 40 :

Political education may be defined as the preparation of a citizen to take well informed, responsible and sustained action for
participation in the national struggle for the realization of the socio-economic objectives of the country. The overriding socio-
economic objectives in India are the abolition of poverty and the creation of a modern democratic, secular and socialist society
in place of the present traditional, feudal, hierarchical and inegalitarian one.

Under British rule, the Congress leaders argued that political education was an important part of education and refused
to accept the official view that education and politics should not be mixed with one another. But when they came to power
in 1947, they almost adopted, British policy and began to talk of education being defiled by politics. 'Hands off education'
was the call to political parties. But inspite of it, political infiltration into the educational system has greatly increased in the
sense that different political parties vie with each other to capture the minds of teachers and students. The wise academicians
wanted political support, without political interference. What we have actually received is infinite political interference with little
genuine political support. This interference with the educational system by political parties for their own ulterior motives is no
political education at all; and with the all-round growth of elitism, it is hardly a matter for surprise that real political education
within the school system (which really means the creation of a commitment to social transformation) has been even weaker than
in the pre-independence period.

At the same time, the freedom struggle came to an end and the major non-formal agency of political education disappeared.
The press could and did provide some political education. But it did not utilize the opportunity to the full and the stranglehold
of vested interests continued to dominate it. The same can be said of political parties as well as of other institutions and agencies
outside the school system which can be expected to provide political education. Most things considered, it appears that we have
made no progress in genuine political education in the Post independence period and have even sided back in some respects.
For instance, the education system has become even more elite-oriented. Patriotism has become the first casualty. Gandhi gave
us the courage to oppose the government when it was wrong, in a disciplined fashion and based on principles. He believed the
means to be as important as the ends and taught us to work among the poor people for mobilizing and organizing them. Today, we
have even lost the courage to fight on basic issues in a disciplined manner because agitation and anarchic politics for individual,
group or party aggrandizement has become common. The education system of today continues to support the domination of the
privileged groups and domestication of the underprivileged ones. The Situation will not change unless we take vigorous steps to
provide genuine political education on an adequate scale. This is one of the major educational reforms we need; and if it is not
carried out, mere linear expansion of the existing system of formal education will only support the status quo and hamper radical
social transformation.

36. UTchia frerom sifew Sfew @ omR ?
(1) SAfSaTeren Faffior faemmE IaeH g (2) THATETS FHN fmior s
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(3) fomneaine 3= ifgsh Hived TR HO (4) eaforeh TEAHT G /U ST ITAH HEA Ul

What should be the ultimate objective of political education ?
(1)  To foster all-round growth of elitism
(2) To create an egalitarian society
(3) To prepare students with high intellectual acumen
(4)  To provide genuine support to educational institutions
37. SAFAHER TRt fHreromesn gema weren mEie e GnTeH i 31 ?
(1) T SN ToRh RIGuTgR Arehmed TSehid |eid=’ JHI el
(2) I TR FEAST Ok v sTeveshder W fee.
(3) I Rqeg TgdH ST G ST 31 TSRl fehfad.
(4) o 37 forvarg fmior et 6, STUe TSThR T1e § AIEHT=1 GETd 3TETd.
According to the passage, what is the main contribution of Mahatma Gandhi to the field of political education ?
(1)  He spread 'Political Literacy' among the people through non-formal political education.
(2) He emphasized the need for Keeping education free from political interference.
(3) He taught agitation and anarchic politics in a disciplined manner.
(4) He made us believe that our political end should be compatible with the means.

38. WIciicTdehl ShIUTA YT TR ATE ?
(1) TATaHEUTEM AR TSiehid feq0r <vame Hed hedl.
(2) TSThI TeTiHl I ToTehia f31eror Sqetey e fedt.
(3) wmEIiTeh TREdTETS! Tsehia e sTaweh 31ms.
(4) T forerr @ safee wie i @nee o1e.
Which of the following statements is not true ?
(1)  Freedom struggle helped to educate people politically.
(2) Political parties provide proper political education.
(3) Political education is necessary for bringing about social change.

(4) Political education is aim and means of individual.

39. e Netloteh SHaedmes J&A THE hivTdt 3T ?
(1) <t farerom=an fafes aigerer smanfia .
(2) <t foremeaten g qo¥ faafaq ard.
(3) 3t Svfiag AT fawmarend) e AR,
(4) < = ufamm 9= SEM 3.
Which is the major problem of the present education system ?
(1) Ttis based on the British Model of education.
(2) It does not inculcate values to the Students.
(3)  Itis highly hierarchical and inegalitarian in nature.
(4) It perpetuates the domination of the few privileged.
40. TSR IeT(UTeh FEATTEA TTRRUT T FE 2 ?
(1) I TSh SEALTTiRET™ TSTeha qrdism 9Td e,
(2) T T gEagTg Tetehiy urfdan fires wrehett ATl
(3) AT TSR EEQRUTEE 3Tcd TSt TTfde ST SiTe.
(4) I TShT BEARUTIRIETT 37T TsTehld TS 9TH ST,
How has politics been related to educational institutions after independence ?
(1)  They got political support without political interference.
(2)  They got no political support with political interference.
(3) They got mere political support with political interference.
(4) They got mere political support without political interference.

el AT ST TITeR STERA 41 d 45 9Tl 3o o
Aol THRIEH ST W 3718 7 Hile HHaT=! Yohd! S35 TWhdihe Jedldl. TehehcATUEl, HIGIl =Tl
TEaRIEl T 1 feHTan Tevd veeeH mifidelel 3R, Sd § TS S, e o STcHeheTIT< JFThe STd, Sd o
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Frfcrehd=am AR ST ST TR, " SITHEAT BT Hed ST Herd, STl g i 3Tl S i off waehre shereft
3EA’ ST TG ST TAHT IS T o8 ATETS! STETE. T AT Yehell el STETE 7 ST Fies e
JEET? W TGOS E 6. A TEUERE! HHiE TEE. qf THERE a1 a FOrEEn SEmEr! d gareasi@n
318! qE U SOe SeTET TR A1 ST I STl shedll TTigsid. HHaTe] MY S 3TEehi 3TEal A1 a1 3T6HhR
Sl foRa ATel Arld T STEvEsh 3118, Uehal ST [SRal sl '3Tael Ul TATTE € HeheuT. TeUd 1T 3TEehR STETEl
U S FRERNIehe AT SaTEdl 3T dTfest. TeUH TEehi= 9R ¥ SATTedTehs IRTae 3Ted A1, d UIe HusTed Hact
SATAT AT SRR A= ATE = 3EhR &1 TS 3TEhR TR, TeUSl dl JHe=T ATg. 90 ST SAet
ST HATeHAE TH 3Tl =T STEHR &1 T REhRmY TUIqd Seiell 3778, Rl Tl ST S JTH FAlelel 318,
I T FREHR ITH T &9 Tohl g8 Tcdieh AHaT=Al ST 3ifaH 2F 3118, ar" Hied 378, e agsadr 39
TEUIATd. ATt <&l AT SIeaT RHawaT= THST A1 JATI0] e Edeial 378, Rl ¥ FHe= FREsr I Siteielt 318, o1
T @ 39 & TSIl JTH Sg1d 370 ST THYat HENSH! hell 318, ST FaU[ CATThgd STV el CITThs
STICATAT TS 3T dTiesl. ST THRTTRg S FThs, AH ATThg HEIH [Nhs, HEAHThgd qar
T e JYTadT 3T ITiEs SHRT TiTead] SAhHTETET T S ShivTdT 318 al dl W= TR, 31T & I v, & o=
HISYUT, AT TN & YHeh1, AT AN ST e AR $o Hadd T AE-aisared HeaEmy Hed. Heaaeemy
T, & FEhR AT R TSIV h& Tehl. IV GLEH TETd SET= ST0T JeAT1 HT ST¥TH e 7 fient foama
HefTEl 3 Th1. Tad: T FaUN ol YA hidldl, Tad: Y] FEUe §91 Ul Jol S8, T&d: Tdr FeorEe a9
TN 0o S8, T0: TERIGH 0T JAThgd Fevead BT, SIa@l N e A1 fiddeh 39 39 8id oo |

TERISTHT 7 ATSATUEAT 1 UTfEst STl T, SR el THE TSI wshad] Sgie 38l 1 hel Il ?
41. AT EHNT LT SHIUTd ?

(1) Ta:= ASE YT A, (2) =T gE T B0

(3) AT HBHCATET II= THOI. (4) e JF B,
42. SA1-ITE A IS RV T AT ?

(1) 37Fe <o WU (2) SN SEREH

(3) UEREEH : 98 WY (4) TAMC HTHTSITET Fshad! ohIvT?
43. ITEHR T T AT AV TS AISA ool

(a) IS 3TEHN () Mg gEmEt 3a

(b) SIREITA FEHR (i) gERM foemer ot

(c) TIUH TEHR (iii) o= 3@ vefqoy

(d) T FEsR (iv) SATHcaT=T I FHo

T I

@ O (© @
() (v (i) @) (@)
(2) (i) () (iv) (i)
(3) (i) Gv) (i) (i)
@ () @) i) (iv)
44. FET= TR G IS ITH 2 ?
(1) ‘'wifa <& w1t ST WHdwTET oY Sedel (2)  TTfcImTehgd S ITTehe TedTar

(3) STsafsAT=AT g (4) WG HaER@! YgiauH ierema
45. IR S ATEd UAE S —

(a) TEhdThe TBURI ()  ATheheATITETS!

(b) THEEHETE! AR (ii)  SATCHBITTETST

(c) THHM amm (iii)  TRIIeRIre Hhefl
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(d) =T HH (iv) e SRt
IRl I
(@ ® (© @
(H  Gv) @) (@) (i)
(2 (i) () Gv) @
3 ) (v (i) (i)
@ () @) @ aGv)
Read the following passage and answer the questions from 46 to 50 :

The richness of great books shows itself in the many levels of meaning they contain. They lend themselves to a variety
of interpretation. This does not mean they are ambiguous or that their integrity is compromised. The different interpretations
complement one another and allow the reader to discover the unity of the work from a variety of perspectives. We need not read
other books more thar they have to say. But we can always go deeper into great books. As sources of enlightenment, they are
inexhaustible.

The interest in many good books that are written is limited to a definite period of history. They do not exhibit the universal
appeal that results from dealing with the fundamental questions which confront men in all times and places and in a way that men
in all times and places can understand. Great books, on the contrary, transcend the provincial limits of their origin. They remain
as world literature. The ones we are sure are great, are the once men everywhere turn to again and again through the centuries.

In view of this, it is often said that great books must pass the test of time. This is quite true. But it is not the passage of time
that makes the book great. They were great when they were written. An enduring interest in a book merely confirms its greatness.
We may consider some contemporary books great, but we cannot be sure. Their excellence still remains to be proved before the
tribunal of the ages.

Mark Twain once remarked that "the great books are the books that everyone wishes he had read, but no one wants to read. "
People wish they had read them because they are the indispensible material of a liberal education. They shy away from reading
them because these books require thought. And thinking is hard. It is probably one of the most painful things that human beings
are called upon to do,

The great books are not easy to read. No one should expect to understand them very well on a first reading, no even to master
them fully after many readings. I have often said that they are the books which are over everyone's head all of the time. That is

why they must be read and re-read. That is also why they are good for us. Only the thing which are over our head can lift us up.
46. Choose the best option :
(1)  The great books (2)  consider illustrate
(3) provincial limits. (4)  justify rise above
47. Choose the best option/s :
Great books must pass the test of time. Which of the following statement is the closest in meaning to the above
statement ?
(a)  Great books must pass our time.
(b)  Great books must be considered great over a long period.
(¢)  Great books must be ready to test time.
(d)  Great books should pass the test conducted from time to time.
(I)  (a)and (d) 2 ()
3 @ 4 (c)and (d)
48. Choose the best option according to the passage :
The difference between good books and great books is that
(a)  great books are read quite often but good books are read rarely.
(b)  good books are read all over the world while great book are not.
(c)  great books have universal appeal and the deal with all time basic issues related to human beings but good books
have limited time appeal.
(d)  great books pass the test of time but good books may not.
(1) (a)and (b) (2)  (c)and (d)
(3) (b)and(c) (4)  Only (d)
49. Which of the following statements are true in the context of the given passage ?
(a)  Great books require thought.
(b)  Good books are world literature.
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50.

51.

52.

(c)  Hard thinking is not painful for man.

(d)  Great books do not have universal appeal.

(e) Longlasting interest in books make them great.

(1) (a)and (e) (2)  (a),(b)and (c)

(3) (d)and(e) 4 (b)and (d)

Choose the best option/s :

The richness of great books shows itself in the many levels of meaning they

(1)  control (2)  envelop

(3) prevent (4) have

fafvre wremasia gut wwrereen g i yewheurErEt A, B, C, D, E, F, G 30f01 H =1 ferneaiqa g @9 qur wee sigd.
W G T H A T 1 96t o sheft, W Eie SR 99 2 ° veea fHae. ufgesn vum wae ura fhan fhmm = m
foreneft sraTen gaq. T feEnef weh et Teheu st agen WiEe. S gReia arevamEnet C 9t A diad fae
0T IUGTH B HRUT AT UHHEHIENER hiH HEel HTTSd Wy A 9§ H gHe 18 Sevard Je il aieiadid. B 3
F g C SRIsR TIEUUUI A T ITehd AR, E g A 9 D TeameRisR STRHTA hiH s Yehdl Uig G SRieR) ool STHd ATEl.
(1) A,B,F9E 2) B,F,E9D

3) A,C,DIE 4 C,B,DIE

Two teams are to be formed for completing two different projects in stipulated time using students A, B, C, D, E,
F, G and H. If G and H are selected as the members of team 1, select the members of team 2 with respect to the
following conditions.

There should be at most five students or at least four students in a first team. Each student is to be selected for only
one project. For smooth working it is useful to include C along with A as they enjoy working together but A and H

always waste time in debating. B and F are not comfortable to work with C. E comfortably works with A and D but
not with G.

(1) A,B,FandE (2) B,F,EandD
3) A,C,DandE 4 C,B,DandE
ferma o farer -

(1) (2)

(3)

Select the odd object :

(1) (2)

g
g
5
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@relt faereht At svamen srfon faciean fasmrder aenet fFewd Faer.

foum -

(a) T hith! Tohal That =@T foha Sal TUum=a =A<kl TR T Beh Hih! fohdl ek =@l TUUT=T=aT THUl
T faure 3R,

(b) Tth It TUUTT=T 3T ek =@l TUUI=aT S<hIl Tehvl TEAT ikl 9 =&1 gl [UUT=IT=a] H&I=d1 e 318,

IRl I

(1) & (b) (2) (a) 9 (b) ThE TE

(3) (@ () T (4) ®F (a)

Study information given and select valid conclusion/s from the given statements based on it.

In a joint family the number of members who take only coffee is equal to the half the number of members who take

tea and the number of persons who take only tea is equal to the half the number of persons who take coffee.

Statements :

(a)  The total number of persons who take either coffee or tea or both is thrice the number of persons who take only
coffee or only tea.

(b)  The total number of persons who take only coffee and those who take only tea is twice the number of persons who
take both coffee and tea.

Answer Options :

(1)  Only (b) (2)  Neither (a) and (b)
(3) Both (a) and (b) (4) Only (a)
Y& Tt ST ot gt smeht feret.

a1 fEhoret TRl SIvTeaTdl TeAT IR TEU S TR SieTdTd STl Ueh HgHI Hed 319 ST 31 g 3tEe
ared, 31 fewhmoft T en g, o Sl sra w@ren T vl @ien Teet stewett snfor sifefireTesn
R : %S 9 el TGl H 2 hed AL

S: 3 i het AT P 7 g et TR

T: % o el ?ITé'}

2 VTt kel o WAl HIEI AT,

i STR:

(1) R

(2) s

(3) T

(4) Toore EqaR == STia fo Somandt Tt arfher g ATE.

Study the following information and select guilty person. Ram was visiting a place where inhabitants always answer
any question with two sentences. One of these is always true while other is always false. While on the visit he found
that his bag has been stolen and he suspected three persons those visited his guest room. He was sure that only one
person is guilty. When he questioned them they replied as follows.

R: S did not do it. I did not do it.

S: I did not do it. P did not do it.

T: I did not do it.

I did not know who did it.

Answer Options :

(1) R
@) S
3 T

(4)  There is no logical consistency in replies for making decision with respect to given conditions.

@D
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55.

56.

57.

58.

ot TRE ST ST, WehHeR TIEIRITETETS! faetl Teheled STaure eiiTdal, SRl 8 UTE=a T@eil o) ok Uig ==el
foem 21.0 Tehe @ITATE. SR 13 UTE=AT W@el @ Aol Wk 13.5 Uehe AT, SR foad Tehg! Uil e Argt 3@
FaA W el TR dZraEe AN Sehe gYtEuTRT U= e

(1) 22 (2) 33

(3) 27 (4) 22.2

Vini travels by monorail to work. She has to use escalator to reach the platform. It takes her 21.0 seconds to reach

the top of the escalator if she runs 8 steps. If she runs 13 steps it takes only 13.5 seconds. Select the number of
seconds that she would require to reach the top of escalator if she decides not to run any step.

(1) 22 (2) 33

(3) 27 (4) 22.2

T SdosTa AHHH BeRiun siafciierd et 3Ty, aqer St BHenuean et gomd fhdt 72
e & fdfera o wafy fare.

O @) 3/

4
(3) %\E (4) 3

An equilateral triangle is inscribed in a circle. Select the option that indicates how many times is the area of circle
with respect to the area of triangle.

3 3
W ¥ @ 3%

4
o % @ 3
Teh! JEARTEAT SHUTETd Tl J&deh Saeietl STgd ST 7 T@Tél Geaehil L, M, N, O, P & Q IS0t Fon fereshaea

TRA. M2, P, N & Q I1 U eI JEdehiet auul feft ST Idia Yeaehiel o901 oliel 3Tgd. L, M & N 31 gon
T YEeh e 3T IARA J&deh T A, T, 9 3 B GUN FAAC! J&doh I @ IARd J&deh AT HATRE!
M. TR KT HIUTT YEaehel 80T s e ?

(1 P (2) N

3 L 4 M

There are six books kept in a steel rack and are pasted with signs as L, M, N, O, P and Q have blue covers while
others have red covers. L, M and Q are new volumes while the rest are old volumes. L, M> and N are law books
while the rest are engineering books. Then which new book of law book has a blue cover ?

(1 Pp (2) N

(3) L 4 M

Trelt et or faamdie gm faam Twm a5t Jea TR AT g ot U Jet STEe 31 Iiehard. oot ot
gut o= gt e o vata e

faum -

(a) X I I &I Uehal AT JT0gT= Ueha! U ST HTeted ATal.

(b) X1 IIRG SEAIe hral ARTHER qToft ShTessiIgeesh aTaLard.

(c) X I IITE VRS Tedeh MGk giifeman ferm 1 swtar uroft S,

(d) X I I AT hlal TNk Sqaig qroft SToRaTd.

Rl IW

(1) (b) & (d) (2) (@3 (c)

(3) (2 9 (b) (4) (2 9 (d)

Two of the four statements given below cannot be true simultaneously but they can be false at the same time. Select the
option that indicates the pair of statements that satisfy given conditions.

Statements :

(a)  No citizen of smart city X wastes a single drop of water.

@
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(b)  Some citizens of smart city X use water carefully.

(c)  Every citizen of smart city X uses water without caring about water crisis,

(d)  Some citizens of smart city X use water carelessly.

Answer Options :

(1)  (b)and (d) (2) (a)and(c)

(3) (a)and(b) (4)  (a)and (d)

SiograTelt HEfera St @ TALAT ATeA ST 3 el fi holedn aiehEtea A fversut e, foen stewe
H A A W HEAR g ST HEHHETAT ol Il Uaee SE. HHY HEHN GHTedl ShEHTean
oA WS UTaesd SR, ST A HATeal SEHHTIET T UTaeie 3Ty 0T SR S Higewhea
THRUHTIR G Ulaeia 3112,

T A= SR Shetesl Yeiel [aamideh! Shivrd faem de Al ?

(1) WTgh=aT HRHHTSTS TR ATfEdt THeATged AT JT=i=l J&dl shH eaal JU Ta.

(2) SREHHEAT ST IGAT ShH ATEITE SIHT @A AT hHTR 3778,

(3) I HRYH AT ga-d HiTEaqor S A=l at=e 3R, 3T WEH FaurdT J0 ATl

(4) wrEeRa foam et T R g SR w9 9 o491 T Ffvadu s=e AR,

Sana wanted to compare her students' performance after completion of present term with respect to historical understanding.

After analysing their documents related to history activities and assignments and their records of class work, she found that
Ashu's performance level is higher during the term than that of Beena. Karim's performance is of lower level than that of
Dharm. Beena's performance is of lower level than Karim's and Ashu's performance level is higher than Mike.

Which of the following statement based on above information is incorrect ?

(1)  Itisnot possible to decide ascending order of these five as there is no sufficient information about Mike.

(2) Beena certainly ranks fourth when performance is arranged in descending order.

(3)  Ashu's performance is not definitely of high quality when compared with other four.

(4) If we are not considering Mike then Dharm's performance is definitely of high quality than Karim and Beena.

Tt UHHERIER STeiel THYS FIhiT SRITUT SITehdl STSITT STITUT ShiF a <t 31914 fohwa Faet.
72°

<

59°
(1) 49 (2) 50
(3) 55 (4) 51

Study the accompanying figure showing overlapping equilateral triangles and select the value of angle a in degrees,
72°

<

(1 49 2) 50
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(3) 55 4 31

& faeam srvamen 9 foeiean uaieng e snania e e Faer.

(a) Wth IRl HoaT HCE ekl famdiarean e e S Iehdrd.

(b)  HTE! Geft JosT T §9a 3Te.

(c) T N -IUCAHT Tehl STMHbT HEImTha .3 frepavft feeft sma.

It ST

(1) eI Idehll FaTdie T T THEAT S8d 3772,

(2) TR eI frshavft SeiaT SIoT= Td Suacht geft e,

(3) Tyl wieren sHor= 94 forneai ST gedehgd Aretacn o= frehauft aufa fammsres ferantt firesd.
(4) = fecieamushl Twal e miigdis gema .

Study the following statements and select the valid conclusion based on these from given options.

(a) Members of farmer's families only can appear for the agricultural university admission examinations.
(b)  Some girls are appearing for admission examination.

(¢)  All girls candidates are given free coaching for one NGO.

Answer Options :

(1) Members from every farmer's family are appearing for admission examination.

(2)  All persons attending coaching class conducted by NGO are girls.

(3) All students appearing for competitive examination get free coaching in classes conducted by NGO.
(4) None of the above given conclusion is relevant to information.

v Prgpereht st <heft anfon ferem 186, 206, 215 3nifor 194 =1 s festean. M fofeeieh wata @it v fae.
(1) 93 (2) 103

(3) 81 4) 73

Zina has written down four natural numbers in column. She chose three of these numbers at a time such that all
numbers had equal chances of getting added. Each triple she came up with sums 186, 206, 215 and 194. Select the
largest number that Zina has written.

(1) 93 (2) 103

3) 81 @4 73

wrfget 1 3fut foeen Eewia fAfvemun o s/ faam feen.

A TR B 30T C Tiean TRiean gaert 1. D 37Ut E 3t T B T30 S9Ri=a STl 3. Hehted! G aR Irarea Teht E
=1 S TSTell Tl BT D =491 9UeR US4, E 9 TR C =41 Sl Uieaden IR,

(1) A < = E =31 5=a1 {dall 3R, (2) E = T A =41 9=a1 3T AR

(3) DT = C =T TU=AT STWAT IR, (4) C 9= A =31 °U=AT (&0 AR,

Study the information and select the statement that is definitely true with respect to it.

A's house is located to the east of houses of B and C. Houses of D and E are located to the north of B's house. In the

early morning shadow of E's two storied house falls on D's house. E's house located to the west of C's house.
(1)  A's house is located to the east of E's house. (2)  E's house is located to the north of A's house.

(3) D's house is located to the north of C's house. (4) C'shouse is located to the south of A's house.

P 1 JHfiTeh T 11 3 UM 4 33 & T fHesaet. a1 St 9 3 Wt it areht v fueredt. feeiean s
T HOTH P <t Faid oige fohwa Faer.

(1) 1 (2) 3

(3) 6 (4) 15

A natural number P is multiplied by 11 and 33 is added to it. This sum is divided by 9 and the remainder is zero.
Select the smallest value of P that satisfies given conditions.

M 1 2 3
3) 6 4) 15
Trem =t gafus Gfaauut sigH ST A ST o Jegedn SRIA ST Sie arag ishd. JATUS SeIRIqui TRTof
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B AT YESHTUeT e STd ¢ CIRTT U3 TlIshi-T ¥ < Ueh HATUS farehuamett Tfteel ShiuTil WRATH A hiael &
greaT fUaUEh gge ATt AR ol aTed. Ui Ta: 1 Fgarell YR JUATHTS! LehIgrTeh SATHTETd ShiH iUl ¢
AT FgATEA! IR JUATETS! Ta: < YU frehuarg e oie ATél. FiEt ST gafue foeka s go=an a9ma
e RFETEET SR 3t 31 Téaes Jeid s Hesl,

(1) RIS AT AU TRV e B0l ST Bl ATal.

(2) WRATdS FrEl /e Al JAue foshiEdl segs 3rEam.

(3) 3% <M qlessh FAUS TR FRIE] Frard.

(4) U Sea TARIUNETS! FHAUSAT GLRN qREsar= Hl ¢gdl.

A Kkidney can be taken safely from a living person, and can save the life of a dying patient. Given that the demand for
kidney transplants exceeds the supply of donated kidneys, the law in the India that forbids people to sell one of their
kidneys should be abolished, because this would result in a greater number of successful kidney transplants. People
are worried that it would involve rich patients exploiting poor potential donors. But selling one's kidney to support
one's family is not very much different from supporting one's family by working in a dangerous occupation. Some
patients have bought kidneys and received transplants in other countries, where the risks to their life from such

operations can be great.

Select an assumption supporting the above argument from following options.

(1)  Poor people are not able to receive kidney transplants.

(2)  Some people in India are willing to sell a kidney.

(3) Kidney transplants carried out in many countries are rarely successful.

(4) Changing the law would ensure an adequate supply of kidneys for transplant.

T ATAE — (FREF SRAGAT) AT B (Frenivn=i SRaaeietn) 3190 3 huaiel SNWidiel Hatdel et
TN U TFETUT HEdt. SR 2014 6l A Hu-iel faia B a1 shu-rean faidiean gue gdl. SR 2014 |t —
HUATEN AT 400 RIS Il R =T TuId B Hu-ean e Jaid SaesurEst 3l fhid SRaauT aai et
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(1) 500 (2) 260

(3) 470 (4) et geeft Am

Accompanying graphical representation shows ratios of export to import of two companies namely A (with squares)
and B (with triangles) over the given years. In 2014, export of company A was double to that of company B. If the
import of company A during the year 2014 is 400 crores, select the most nearest approximate export of company B
during that year.
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(3) 470 (4) Data is not sufficient
fecieh mifgdt aTueA 3rgsRR | & W A WS FaEn ‘B R 'C! 9 adie Siigd Wiy 'C! /e Hern A P g 'C!
1 WIS ST, 'A' U1 'B' § WISY SR, 'Q' & 'C' T Yol 3. 'R' M 'P' © WM 3. 'S' VT 'P' § AU . T

2'S' 3 g ITed.
(1) S-R (2) P-Q
(3) B-Q (4) T-R

Select the pair of persons one of whom is the uncle from mother's side and his niece respectively using given
information. 'B' is the father of 'C' but 'C' is not his son. 'P' is the brother of 'C'. 'A’ is the spouse of 'B'. 'Q' is the
daughter of 'C'. 'R' is son of 'P'. 'S' is spouse of 'P'. T is father of 'S'.

(I) S-R 2 P-Q

3 B-Q “4 T-R

@reft O faem sufor fF srgum el smea, greren Rieret faam ao armEsh sneq, oo faamgear

ATfehehgEaT 3T STIH Sl

faam

e T 99 3.

HTEl FOH B SR 3T,
HTEl HR @ .

Td feaa wh 3.
M

() ral T 989 3178,
(1I) s T HR 3.
(1) el oo w89 3.

T I
(1) el g T (2) (1) &
(3) wh (1) 97 (4) % (1) X

Below four statements and three conclusions are given. You have to take the given statements to be true. Decide
which of the given conclusions logically true from given statements.

Statements :

All roads are buses. Some buses are cars. Some cars are days.

All days are nights.

Conclusions :

(I)  Some nights are buses.

(II)  Some nights are cars.

(IIT) Some days are buses.

Answer Options :

(1) None true (2)  Only (I) true

(3)  Only (IT) true (4)  Only (III) true

FETTHT WG 9 T dThTa S SITeRH 50 |4 3 35 Al 3T, Segl Wigan Tkl 21 W YUt griet degt TTae
TRt fohelt T Ut gieiet ?

(1) 25 (2) 45

(3) 30 (4) 32

The diameters of the bigger wheel and smaller wheel of a tractor are 50 cm and 35 c¢m respectively. How many
revolutions will the smaller wheel make when the bigger one makes 21 revolutions ?

(1) 25 (2) 45

3) 30 4 32

Y& HATE HIBSIYah AT SAMUT c&ren YaT TgUH SUANT shied WNTT INeeh 37T quawest aredtdiet  STegHdare
Fivm % TRUIR SR UEiET fFaet. T g : AEeRudUl ITgdl STt WGl SR Araseet
QAT TEER WISRT HIeTeh! 3TEUT SEhEISYIR 3118, S Sawhl T = Siid SierTd ITe]d JeTeiedl JTeiae 3 Shigt
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M WIS SV o Iqehiedl -1 TR SHIEETaR & T6d:he SIeTuarel Warrlt 3. a1 e Jeeedt
WA Sia Gl 9ol AP @ Ui A9 g% giaeiedl YA SEISdiel SmHTe Sreaun=an Wit
FNYERAT § T SAUATE Yo Tagul faeh o,

QUATET : 3 AT @ SAUETaURd FeTel IAehTIITaeh UTuaTd UgH AHed i a2t fRRreett a1med. T Skt 3118 dt Wb
A @R TR, TS A FHTEUETETE! o S FEUETl UTgd agaicetiean U uearen A1t FHaT.

(1) <hegTel FETRical SRTSHIS! TR ShRIe A il dsal a1 ATal.

(2) WTESIeh AT AT STTEHTAUE SISl WISHi ATeTH T Tgurel 3fed 3178 o1 ATal.

(3) SIegT ATETAUEA eI HIoh! hidrd degl WiNHT Ik Ta: =1 Sid dieITd =Tetdrd a1 ATar.

(4) o SRERHTIGT TETE IT=iF FETSTel o THIY 819 =iad 3718 o7 Té 318 Fguvase.

Read the following conversation carefully and using this as evidence, select the option that serves as a conclusion
pointing to the disagreement between treasure hunter and archaeologist.

Treasure Hunter : In general, archaeological artefacts found on public property cannot legally be privately owned.
Centuries-old maritime law allows persons who risk their lives attempting to rescue a sunken ship are permitted to
keep whatever cargo they can salvage. Under this rule treasure hunters clearly are entitled to keep the cargo from
ancient shipwrecks that they risk their lives to save from becoming extinct in salty ocean waters.

Archaeologist : Not so. These shipwrecks have stabilized over the centuries they have lain underwater. The only
danger they are in is from greedy treasure hunters who destroy valuable archaeological evidence in their hurry to
loot artefacts for making high profits.

(1)  Whether maritime law can be ever applied to a ship that has already sunk,

(2)  Whether is it legitimate to call antique shipwreck in public waters as private property.

(3)  Whether a treasure hunters risk their life when they salvage shipwreck.

(4) In what sense, if any, an ancient shipwreck can be said to be in verge of extinction.

T, 39T 3ATUT ke A 1 ¢ 3 2 5 31 STHIUTA T[AIUIGh hied Ueh &1 T hedl, 4 A= Twer et Seet aaufh
femett 2

(1) 4:3:5 (2) 6:5:10

(3) 5:6:10 (4) 10:5:6

Sanjay, Ashok and Ketan started a business with their investment in the ratio 1:3:5. After 4 months, Sanjay invested
the same amount as before and Ashok as well as Ketan withdrew half of their investment. What is the ratio of their
profits at the end of the year ?

(1)y 4:3:5 2) 6:5:10

3) 5:6:10 4 10:5:6

15 69 9 7 Aigen areamyd 10 Tewia afid Téa sueare o, aftda wHiaw 6 afgetran Twmew swe anft
aftreht fohet SRR TER STt A ?

(1) 10011 (2) 10010

(3) 11010 (4) 12740

A committee of 10 members has to be formed from 15 men and 7 women. In how many ways can this be done when
the committee consists of at least 6 women ?

(1) 10011 (2) 10010

(3) 11010 (4) 12740

T AT fFafeet TehrATaisl 3708 Aerdifesm el uftng Seiet, SEerAler 3 TETEH 3107 erean |uehi=n
e Wi o9 T8 greean fegwauen Jieandiel TgaeeTen e YU 1 YRR Ulgeld |9ie 31, e,
TUUEE, FIAGTIE HTEUT eIl ThReal UTEehIUENT IcATeATeal HISTHIT Sahl SEIeFre-eal Uehid I3, IIehd. qeiy
TIFAAA T WIS el TR Arean Haenfaras e e Afge Suctstl 3. "JTuidie greiean gader faruda it
TAUATE ST EFAATHES JTHUATEAl VeRIa™ UTeaierh SArmadiel STEigd Selel 318’ 3 Jaaraieed
(1) SToaT=AT TSR EIOM=T JFFaE=al JHuMHisTed BR ATt ATfad! 3ucey 3@elt aigl aiial  ardia Ireiea
IeTEHTd T SR ShivaTa Scl ETetul JTaveh 378,
@D
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(2) T ETSTAR THHT SHIVIAT TRUMH BAl & HTeId THeAT]e Sach! aTHd 3r8cie fafay Icureia  gRaare-=n am
HUITETE hIVATET Fdageh IUTH 0T TRl ATal.

(3) TS ST FTE=AT WiHSITE] oHal A<ATdie Heaad I MY T Iac] eI ! aTRd STEeed
faferg IeaTeATdTel A=A AR 61 |Teul TR 3R,

(4) THFATANE TUATAT FIEMAT Tdal TRUMH HuaT=al GHd=a] Yede Ucdieesh gl S ararae
TNeATeS Sh! AT STecied fafay Iearerd = aToR SHvdmer ¢ JTevl STaweh 3Tk,

The research published in the 'Journal of Clinical Endocrinology and Metabolism', is the first of its kinds to

investigate the association between the chemical triclosan, exposure with bone mineral density and osteoporosis.

A person can be exposed to triclosan via consumer products like soaps, toothpastes, sanitizers and other such

products. However little is known about the relationship between triclosan and human bone health. Laboratory

studies have demonstrated that triclosan may have potential to adversely affect the bone density in animals,' said

one scientist studying effects of triclosan. Select the most appropriate conclusion based on above information.

(1) It is necessary to ban use of triclosan in the products listed above though very little is known about its effect on
animal bones.

(2)  Since exact effect of triclosan on human bone is not known, there is no need to take any precaution about its use in
different products used by human beings.

(3) Since the association between triclosan and its exposure with bone mineral density is already investigated, it is
necessary to ban its use in various products used by human beings.

(4) Since some studies have demonstrated that triclosan may have potential to affect bone density in animals, it is
necessary to ban its use in various products used by humans.

S W hIE Wiaat et amgd. Ardier U qeit e 14 wey fuet faa p e few. p 3 awdiet ves et frama
11 ey Buet Q & few. Q 7 ATt ueh et Pram vk wrer fwen foean R = fommen feen. SRR &1 Q g 14
HTuet firestel @ S 2 goom srEeiean e wen Faer.

(1) 195 (2) 210

(3) 126 (4) 378

S is having some colourful sea shells. She gave one third of these shells and 14 more besides to P. P gave one third
of these shells and 11 more besides to Q. Q gave one third of these shells and one more besides to her friend R. If R
got 14 shells from Q then select the number of shells S originally has.

(1) 195 () 210

(3) 126 (4) 378

Teuerea TREURAT BEUT= HURSTSEA 3§ TURE T9R Aol THYS SehHThRISE Tet 9Teld oigH  FIehiumesRr
Tresaen o2 o™ erediee faciel ureyie Srer UM srvam snfon vaiEg stua a€t fae.
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(3) (4)

Study the transparent paper sheet given on the left-hand side that is folded to get triangle of small size by folding it
along dotted diagonals bisecting each other and diamond shape formed due to these and select the most appropriate

fold from the options.

(

Answer Options :
N

A\ 2

AN o

>
o 2 @ &

(1)

Decision making and problem solving question no. 76 to 80.

76.

TETIH TS A qiel . 1 Tl SIhviars! ST ST AiHdl afed hell I8, a1 A= =

A0 31T, AT G- TS N THea aiNg STEuR 3. T,

(1) uitferd= faeurd auia sue it afesmd Jeam vt 3ren w@eare Hurgsd e fafehdas
TURH TR 9 qHY T9 HGH 8 IR ATEH HSTA A= i @ 2.

(2) aNEER R AVATHES ATE] AT § oAl SATEETIh Teqadiat IRumH g &=l TEIe! S Sel g8
T JATALT U .

(3) a1 Tt HEla I el TS AT JUTALT FUH U AT TH HLAHT SRS THEATHREAT i T
gl sl SAFITd Bhllegd ATdAT ATl HI 2T

(4) To=a1 SNEHT STHHURE JEGUATERE! 789 qHedl 9 <ol SAadTe qeaedrd a9l 4% T3 JEme! getad

Your boss was responsible for some decisions related to changing quality of some product for increasing profit but
unfortunately that was run into losses due to fall in sales. The management of the company compiled a committee
to enquire into this problem. This committee called for your deposition regarding this issue. Your boss wants you to
defend the decisions taken by her. She is likely to remain your boss for next two-three years. You would,

(1) ... give the fair account of the situation and assure the committee that in future though being subordinate you and
your team members will take care to assert your critical views related to these kinds of decisions for avoiding loss.

(2) ... just give the impartial account of what has happened that might result in her implication, though you are sure that
this act will affect your professional relations with her.

(3) ... give the fare account and emphasis how she summarily rejected the suggestions given to her by her junior
assistants like you related to this matter.

(4) ...show your lack of knowledge related to this matter for saving your boss from embarrassment and your professional

relations with her.
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HHAN WAl § AT VehedTURIT et Td TaE A Selel 3Ted STIUT o1 URIETa qraTell sieel Shirdn 31T,
Tt STEeen ThTg HHERI Segl TERTA TEHEA fehal STTETa Al degTel Tl STaw! s-d Ut Shivfigl T <2
TR & STTHT T 311 ; S TTER SUTH s 318 TEUTAHT Ueh It AT SR 31eh TATAT S<hl TTh1g Shivl
1 3MeaTicleh N 3 @ FTA A Tl Tedieh TS HHTM 314 wilehiel {81 FAT T Hidl THRUT TS
giE AEA ST ST T TR SSeiedn SEd cTd SRHTC JUITATET U Aiehen e Aréa o aegierdeht
TR T URToa STTET. S = SIETATTHR ATIea SUTAIe S9N AUTS sheareaiel | 1,50,000 == Jaeur
TR, T e HEw TgU Rl St HEEM! ... UG HOEe WU T,
(1) ... et Mesr & B BAEBEY @S (7) HH A9 HUR ditieh IYH faehiid HogEEl  3Tush
(2) ... OE HAAR FAEGRT T HEHE e HOAET JaH 3Ie™ TEeedl Fdiqd 39d  THeAHes Al
(3) SiegT Fxh! A3 AT dTed dear fa=t foham wam=h St faiemd 39 Sehvar= &WdT S=Hd:= IMTes! hetl
SITd TEU THT3 HHATHT &H g |8 hivarel. . .
(4) ... TEETER SIS T SO GERIEaHH Foeeie SHIuTare! HTHTNh HIeH Joed el Sfia gefard
FHOATTE 3T O FhUT =Tt 3T 3 ¥ ATATE AR ¢are SThuITEndl doe Tevdeh el et

You are a member of one active group that organizes cleaning sessions in your area. After reading the news that

a safai karmachari dies every five days in India, all members of group have become restless want to work toward

changing this situation. You all are quite aware of the fact that the wretched manual scavengers briefly makes

news when there is a sewer death due to asphyxiation or accident, but no authority is heard saying : This is our

problem : we'll fix it.' You all are aware of the fact that though many notable persons talk of manual scavenging as

a 'spiritual experience' for any scavenger cleans other people's excreta because there is no option and no alternative

employment for those born into the castes identified with scavenging. According to estimates of some agencies

numbers of scavengers in our country is closer to 1,50,000. As a member of this group you will persuade other

members to give priority for...

(1)  collecting funds and finding innovators for developing technological gadgets that can take over the grossest (?) task
of scavenging.

(2) tackling it as a social problem as the safai karmacharis come from castes, which have a long history of manual
scavenging and enduring discrimination.

(3) assisting scavengers to get empowered to fight injustice as when person grow in such a caste her or his ability to
stand up to injustice is rendered lame at birth.

(4) using social media for making people at large sensitive toward plight of these people and invite them to come

together to pressurize government to make their life safe and at least not a curse and for collecting needed fund.
e TehT WA TATEERI ST SN AR HATSRRT HTETd STITUT GraTell Jgianet WINH e aieaean ST=T Srrea
Tk TFHEATETS! HATaedt UM SUTE IUaTHl e huamd STell 3. A1 SR Wgauardist Tard SHiamn graretl
SARTISIRT HISHEBI SATTeA JNASATTAT SFeh Tl UTETEeT [HesTedl. Sogl qval Tehdit shetl degl Jgramet = fmion
TN frhTEeRil el Td | §8U hel 3T 1 IEHYN SR @IV W UTSe Seare 31 Siehil 9.
TFETS! TR T 0T FRUTR & 1A RN &k 357 ST STHeane o o1 4ol UTuft STuRuard, JEtd JTeies
AU 1 HEHN F0ATE, THIOST STORuaTE HTa ohid TEeATee! i1 GreTell Jiiae. qral JateTaehl T amet.
(1) ... I 9= A SRl HeTaTeEidie, S fomneata a3 sniasEdie fgiarEeye

STEETNG WS T Hed QUaTd TaE STEUITT STEATIhI=al Hed - o W ehi el v

ST AT o FEmSshgd (e fiesed = Hwara... .
(2) ... W TE HEA, GAISHhIhS A1 THICETEd Ta:< TS Sk e ol RIS Al d2fiel |id STHI] g
(3) ... FEHTHTAT U @A 9 TR I Afed! el fHasman- §aisehT 9 TEamerT |idr=an @=n

(4) ... FIEET HESTE HOR ATE HRUT TR T&d:2A1 AREEE SHE AR AR AT fovard v ...
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As the senior civil officer in-charge of some area, you are requested to be guest at the annual gathering of privately
run old age home. While travelling to this place you came across many small settlements where tribal people were
living in depleted shanties, though the area is full of natural resources like forests, rivers, springs and water ponds.
When you inquired, people told that all the resources were grabbed by developers of old age home, forcing them to
settle in small areas. They also told you that since people running old age settlement and inmates of the home are
from high cast and they prevent these people from using river water, having a bath in the river or do fishing, using
forest produce etc. Your priority will be to :

(1) make and execute a plan for empowering people in the area with the help of teachers of the colleges from urban
part of the area who are interested in assisting their students in getting practical experiences related to the theories
of humanities and sociology by procuring funds from corporates.

(2) cancel your visit to the gathering by expressing your distress about the situation, order the authorities of old age
home to give these people their dues and allow them to enjoy resources in the area.

(3) attend the gathering, get correct information about the situation and convince the organizers and inmates to have
some sympathy towards the real owners of the resources during your speech in a friendly manner.

(4) don't take any action as you believe that everyone has to live with one's fate.

TG ATTEA FAl IeUTEH HOMAT AHFTEEA gHEAT T ITEATA Tod hell 3. A1 FAAFTH Sguur Hehd Ui
gehaa oo ques e Sraae oI, TR gl SgaTe URig hell R qvel hiH ohid STeeiedl Tea! Figult
T HUATd A5 STYN SRl TG IMEhE TR qrelell 3d 3Td. o IMEh TEFTINeeR a1 fawmmerem e
TR STEaTe |IeT FULTETS! aTe ST SAd o AT TUeA SITHRIT TE=t fvamardar snmeselt SR 3. =

ufferdta grt Ten= =ne,
(1) ... g Ty 3797 SeR=aT ST Taoiedl 3T %Y GEo=T SRTRedehed Gollll fHeqd Fat o SHadrs!

(2) ... FIAETE IFAEHUTSR TR 390 g 33 THT 3T FHATAT ...

(3) ... B JTEATA TUH Gl dREERS |G HU o T ATEEd =90 HOAHE! d IR HEA ol Goed
FHOITEATS! T 3raeft ¢ = AfTHIerand! ATeuTa ..

(4) ... gEehE IATSTETT TEl T AT AAAHS! TEATA ITS HIOITAT ..

You are working as the head of a NGO that is specialized in environmental audit. Your team has compiled a report

about government owned power generation units that use coal. Your report shows that these units grossly violate

pollution norms. Some government officials are threatening you that they will cancel registration of NGO for which

you are working with for making this report public. They are pressurizing government laboratories for submitting

favourable report about these units and this would tarnish the credibility of your NGO. In this situation your

priority is to ...

(1) ... getyour findings confirmed from another laboratory that is run by organisation engaged in similar work and then
disclose the results to public.

(2) ... disclose the report as it is and put the blame on outdated machinery.

(3) ... submit this report to the higher authority and wait for their response by giving hem sufficient time for investigation

and implementing correcting measures.
(4) ... disclose the report to the public without caring about the threat.

Treft S A I ScATeA QU= fawmTret Gl S ATeTa STIfuT STiaraia STt et 3Teh oY ¢ Shed gl Aot

3T T fresad gl STt TR ZTeTa TR Asiiehed HisTd STTIuT € fshan aTe] Saei uTfest g1 4o grar. vur 3

ST ATATIATE ShIVTATE SIS THAT TEUT IENSTeh Vel hellel 1 Uehelod ShoUHTaR SMUTRA TSH1 U3 GRS

I AT SATTUT AVT: S HeaSt FHae oot queararst HatuT g 3. T,

(1) 31 =hT EINEETYTRG Fea7 YfshaT e T hrifead shivame T3] ohid 3Tad, THS=AT 9631 a1 Seecdl TS
FEA IcUTEH HY TATd, TV <A1 TET TeIedTd SATUATETS] TR bl SUATSH e eedid 2 STTETe
g AR e e,

(2) 3uctey fAel TGN BT 3 JHEATRST AU FECAM el ST T=eiEed s Iy SAmm
o gftaehean e M el THE HE gURd we.

(3) LT IS B3 AISHT FIEai STRImare ST o FHagvamane 7d da=ie 9 fafdne e Jerie e semd

GD
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U3 o HAEE e S,

(4) TSI ITSHAT TEAMYA HOAER! S JhaHI=1 AGH FATGUEES] A0 988 fodqes 9 37,
ST ASHT Hegd TMHT AT T631 Shed o) T H& T,

All these years you are heading the department that looks after the promotion of industries and the rule till now is

"we were doing this for many years and making good profits and to be safe we should continue with this process in

nearing future. But what you see now that young entrepreneurs with no experience of running business are coming

with their proposals with ideas you never heard of and making it difficult for you the selection for partial financial
assistance. You will,

(1)  study how these persons are trying to implement new research based processes, design product by recognizing the
new or changing needs of the society or markets, and how they plan to apply and employ technology to their vision
and then select proposals.

(2)  work with the rule book as you did for last twenty five or more years to be on the safe side because you are expected
to handle available funds responsibly.

(3) take time for studying the proposals in details and take initiative in developing new rules for proposal selection that
are flexible and consider knowledge age needs of particular industry.

(4) select proposals that are developed by persons ready with venture capital to handle the risk of loss and let them

experiment with their new ideas for promoting entrepreneurship in the state.

HEE QR 1T - 2020

11-3 12-2 13-2 14 -1 15-2 16-4 17-1 18-3 19-1 20-4

21-3 22-4 23-3 24-1 25-2 26-3 27-4 28-2 29-1 30-4

31-4 32-1 33-3 34-2 35-4 36-3 37-4 38-2 39-3 40-3

41-3  42-4  43-1 44-3  45-1 46-4 47-2  48-2  49-1 50-2

51-3 52-4 53-3 54-2 55-2 56-3 57-4 58-2 59-2 60-1

61-4 62-3 63-1 64 -3 65-2 66 - # 67 -2 68 -3 69-3 70 - 4

71-3 72-2 73-4 74 -2 75-3

g AT & TUT
. 3.

1 2 3 4
76 1 1.5 0 2.5
77 0 2.5 1.5 1
78 0 1.5 1 2.5
79 0 2.5 1 1.5
80 1 0 2.5 1.5




